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c. 653 990990 LGOS 50dMMBobml 30639000 IHTIMGOS IBIMIEGOMEL
d. 653 990dgds LM 503MmMBobml 306390000 IHTIMGOS IBIMIEGdMEL
Lodsegby

17. 9w9d@HOmbogbols dofolimsb dgbgdols 50w0Esb Mo MsoMLdos ,,00xMO” dsd30L J39d
dmbgz9g®mol MHob3o? (g0 11) soMBog gHmo:

a. 500
b. 259
c. +100
Q. 200

18. dommomgm, GMaMmE 1bs ImbEIL 2oo5YOWGds ,,80x%MM0” dsd30lL ImJdggdol Bmbsdo.
(00530 11) s06MB0g grn0:

a. 39%941390o 53959000 bEbzom, HmEgLsg MO39 Bgbo JOMLOMMWE §ywgds
5 9bgds dofjobs.

b. +,,00¢0b BsdOK0m”. ©0Y9gIEBM03ME0 dMEHIO0! b JoeMTYdO.
G- 3Mdgo BsdoK ol gowoydoo.

Q. LoMdowom.



19. 000 bsllosmYdS oKX MO0 d5d30L BMbST0, ,,8530L BIBOX M 255 PO0WGdOL BHgdbozs?
(00530 11) s0MB0g gOomo:

a. 099 BHM03100 dEHIO00 b JoermIdom, LHMsxo bsdoxom.

b. + 6530x 0l goodoLsL B3gbo 56 Mbs M0l doffsls, ol Mmd fobs ggbols Jmlero
9095L 3965 3gbols §396L

c. 39055A0MYdS bogds 39600 6500XJO0m, 535LMsbs3g 339bo dofobyg 0TYds dngero
A9Ox00m.

Q. ,,0080L BodOX 0“ BodBogL dOKMMO d5d30L HBMbsTo LOMBOO™ Fogensls.
20. 65 036035¢09ds ,,00%)M0” dsd30L Imgdggdol BMBSTo goosYROEGdOLLL? (30 11)
a. 39095QP0GOOL 2155300 dW5 45dMmYqbgdge 0dbsls 0OBMEoMmgdmo J@sbys.

b. + 36Mdgo 6530xgO0L oo YTs. BGBLHEIOL WsBROL dofjols Bgs3oMmOLH
9 dmO90s. QYO 1YbMb LOMdO O TJosbErmgds

G- ©099dBHM03290 dMGHJOoL odmygbgds.

Q. L535d39m ESb0L 9dmygbgds.

21. 65 56 5003905 9GO Ybol HBgamddngdoLsgsh IBIMWGITOLIMZOL 30MZYIWSO
5b3569d0L BoGoMmgdolial? (0530 11) s0MHbog 900!

a. 6956005300L 3093gJLolL WSHYgds SBIMIEGOEIOL 3MToBHMBE TEYMT>MYMOST0
g4mgzbobob.

b. + IBIMOWGdIMbYg 0d39e00 bgwrom dgbgds gargd@Gmogbols H9dmgdgwogdoboysb
3960530L9RW 9059

c. 990396LMbsol godmdabgds.

22. 33900 Lobbgbol MM sbEol (MBOBOL JymE0) oWYdSTY
5505693100 30O b I3EHMIM™ (N30 4):

S. + 950y sfigmer yMIoMgmdsdo.
0. 05839019 IMBoMgmdsdo.

G- 300¥IMH0L IYMToMmgMdL 5OBYd0mO 360369 Mds 56 5J3L.



23. MMM Mbs 0dmgdgml d5939cds 300M9d0L boba™Mdwozo Fywg@olb d9dmbggzolsls?

5. 29560530LvREML 30 FYgBHOWO 30VIMJI0 S 530l F99YY WISEML sT(3530 WbEHO
(69B0obols g39930).

0. + 30QMmgdol gobmogolrynergdsdg @Ml ©sd3o30 ab@o(MgHobols gamBHo)  ©o
399m530L3E Ml J0FYgEHOWO 300IMGIO.

@3- 0960000 93MMdsly I60I3z69wMds 56 5J3U.



G U

1) ®&mIgero 0mboldogdgdo MHBOHB39wymRL dogrm3zsb0 GHEOBLRMOTsGHMM9doL boba®mdwog
5 bY0dgM FMFoMdIL? 50MHB0Y GOMO:

a. (30 B 0YmL BHMBLRMMTsEHMMYIOL (3939990 9egdgbEJdOL IBHZ0M™MZJdOU,
350390005 S 3$9339M5G¥IMYd0L LOWOYJO0, IRJHOO BMOTOL BoMAWYOT0; J530900L,
35030l M9290Mgd0l s bbgs 9e9d9b@gdol 398sMm M dEAMTsMmgMdsdo T9bsmBmbgds; Bgmols
3oboliosmgdgdoLs s BHMIBLBMOTSGMOOL 0BMEs300L bMToMYdIM BE3M9dTdo G9bs@bmbgds.

b. b56d6M0L JOHMBOL LGSEOMBI MO LTS5 gdYOOL A5TMYIE FEYMIMYIMOST0 9bsMBMbBIdS.

The correct answer is: 537100 “bS 0gml BHEOBLRMOT>EHMOGOOL 35¢39990 ggdgbEgdol
53003900, dsd3900L5 @ 3H939MsGMgdoL LoWOWYJd0, IRI6OEO BMEIOL FsMRWgddo;
3930900U, dsd30L MH9gAoMgdol s bbgs 9e9d96@gdoL 493sMmMEn JERMIsMYMdSd0 T9bseBMbads;
B900L JobsL0sMYOGOOLS S BHMSBLBMEOTsEHMOOL ODBMWHE00L brM®I0MYdME Br3z™9gddo
d96560Bmbgdo.

2) 65 Mbs 0ymb J000mYdY0 GOHMNBIBS GMBLEMOToBHMOYIOL (MgodEmMmgdol) 53B9dbg?
500MB0g 9OMO:

a. LELOYMO™ (Log39LoEYMOM) bmTgMO, BsBYOOL Fglsdsdolo ggMgdo

b. 530l ImEEmds.

The correct answer is: LoboyMO™ (Log3gLboYMOM) BdgMo, BsBYOOL gLsdsdolo B39gM9gdo

3 ) 990d9ds, M 56, d5d30L §398 dgMBo BHMIBLBMOsEHMMHGdOL sEHZ0MM30L J39d dsd30L
932106900L dMfymdowmdoL bgwoom (Lobgwmmom) Fosmmgs?

506bB0g 9MHmo:

a. 3909905, ) BHEMBLBMOTSEGMM0 03Ymggds v9ddo bgerol Mgsg0ddo.

b. 5033905, 9bgMMLoLEBHAOL 3H9dbo3MMo bgwddw3s69wol 3509HY39EH0WIdOm, 56553EMDoEwE
9510930 5996935 ) Jugerdo dsd30L (339090 MdS 0TYMPIOS LoBPZMYdT0, MMIgaEro;
530594mx30¢90L gargdBHmmgbg®aool dmdbdsmgdeols Immbmgbgdl.

c. 56 dgo0degds.

The correct answer is: 56 9g0degdo.



4 ) OH™amO 960 25005y gl dsermz560 BHMBLRMMIsEHMMOL Bs@m3zs dobo dogys

5H056900L5y96 (330L MY 53EHMT>GIM0 FodMMM30L T9dmnbgzg35d0? s0MBROY 9O ™O:

a. 994603960 bgedd3569e0l J0gM oMy IM35¢0xMGOOL 350l oYgboL 989y,

b. bmm© ©35¢09MYO0U, 459MmEOL, 3B, DYool sbsEI0BOLS S Yodmzwgbowo
©5623930300L 003305300k 339073,

c. IbMWME EIMNZ5¢0gMGO0L 25dM3w9bowo ©33900L dgaM{AgOOLS S A9MBIMMDMBOL
50dmx3bzmol 999©9y.

The correct answer is: IbMEME EIMZ509MHJIOL, 2odM3EEOL, FoBol, Bgmol sbseroBols s
899m3gbowo ©s6©3939300L @0330©s300L dgdngy.

5) ©5 390H0M©Mmd0m 6s bgdmEgl dowm3zs60 GH®MIBLEBMOToGMEMOOL (859bE0MYd o
954 GH™MH9d0L) OMNZ0IMGOS A5TMOMZOL YoMgdg bsYMYOT0 1030 FMMOYY
390bmbscrom?

50MB0g 9MHmo:

a. MI-053990 9JOMNKIM- F053500 S 13O0 FMbIsMJOOL BHEmBLRMMTSEGHMMIOOLS O
9650030005 3306530 9OMNXIM- bsMBRIBOLS.

b. 5656530090 39d0 gBmbge.

The correct answer is: ©©g-059900 JOOXIO- F053560 S 153MSOO FMbT>MIGdOL
AOBLBMOTSGHMMGOOLS O 5I50FZ30505 3306530 JOOXIM- IBIMBgbOLY.

6 ) M5 39600MIMO00 Mbs brgdmgl dsem3z560 GHEMmBLBMMAsEMEMOOL (353196EH0MIdIwO
954GH™MH9d0b) EMZ50xMYGOS 25FMOMZOL FoMgdg sbsYIMYOT0 F9ET030 FMMmOYg 39MLMbsenols
2396909?

50MbB0g 9MHmo:

a. MI-053990 9JOMNKIM- 30053500 S 13O0 FMbTMGOIOL BHEBLRMMTSEHMMGOOLS O
5650930505 3306530 9ONRIO- bsMBRIBOLS.

b. 5656530090 ®39d0 gembyge.

The correct answer is: 505653 9d 039d0 gBmbgem.

7)) 65 3960 bogds300 MBS 0gml 9909000 3 33 s BYdmo dsd30L
399565)0e 9090 Imfiymdowmdol sdsdofigdgwro sbgdol Labgurwm®mgdo so®mboy
9600:



a. 8s30.

b. 8(3569.

c. foomgro.

The correct answer is: foomgeo.

8) M5 39MOoL LMYdI30m MBS 0YML F9gdOO SFO(GOOL BYBO Qodsbsfoegdgen
dmflymdowmdsdo
333 ©> Bg30m

50MB0g 9MH™O:

a. 8s30.

b. foomgro.
C. Y30009¢00.
d. 3(3969

The correct answer is: 9530.

9 ) Lo Mbs 0ymUb FoMFgMgd0 58565H0gdgw Imfymdowmdgddo, HmAwgdo3
5060365396 3065960l 60693l s BoOL3YEHRYMM ILEbYEIYdL ) sS0MBoY
9600:

a. 330-b 399mbogMGM9dgE gegdgb@gdby.
b. 339-b 39650930l 59393 LOBMYODY.

c. 339-0L {obslobglis s oy bofiowgd by, 9993690 356M5IdBY. B-0L 356M9d)ODY s 3599MYOOL
405 3900wq0DY, ©yd-0b IBYIMYIbY.

The correct answer is: 330-0b {0bsbobgls s oy bofforgd by, 8983690 356M5dDY. T-obL
39690909 5 35896900l Jogs 3900, d-0l IbsYMGODY.

10) 250565(0wgd9e0 Im{igmdomdols sbsysMmgdol smM3509gMHgds JugEP0b FodmwOH™MS35¢,
30993H90bg 83030 dMmM0yg 396LMbIE0m, MbEs FIBBMMEF0g L 5M50F305m5 30006 . . .
50Mb0g 9Mmo:

a. MI-©sdgdo ghmbge.

b. 3306580 gOHobgw.



C. 339035 do ghmbge.
d. ®39d0 gemnx 96

The correct answer is: C©9-©539d0 9HNbg.

11 ) 3595650990 dmfymdowmdol bssMIdOL IMZE0gMYds Jugerosb
3990MOHM5350, m309JGHJOHg 39T030 M0y 39MHLMbIOL sBYmRbolsl, vbws
396bMOE09W L 5605083055 30QEY.... . . 5060B0g 9ODO:

a. 3390 Gowdo ghmbge.
b. 3306580 gOHObgw.

c. ®393d0 ghmbg.

d. M9-©sdgdo ghmbge.

The correct answer is: 39d0 gGmnbge.

12 ) GmIgeo GomfgMgd0 v6@s 0gmb Lo 3IMEsGm®m™m bsmoglimgdol 35609d9dbg?
506MB0g 9OH»O:

a. ,,b05399M)GMOM”. ,,393bebsd0d0s”. ,,00935 53O o ME0s”. b.

, 009 Aod305”.

C. ,,393bom 56 dgbz09g”.
The correct answer is: ,, L5533 OGHMOM”. ,,393bXL0T05". ,,0mfi935 530> E0S”.

13 ) HmIger ©™399996¢330 Mbws sx0gLOoMEIL BES 3569wgdT0 Qols1Ydgd0L, Boggbgdol s
b3 LoFsMIN 390 LBV GIMEO FIPIOMZJOOL M39M5(30900? 50MB0Y JOMO:
a. LOIMYEYM E5(330LS 5 533MT>EH030L §Mbsegddo.

b. m396M5@0mw g19Mbserdo.

C. 39053MO™M3900 IM{igMmdoEMmdgdol dEAMToMmg)MdolL 3bMHOEgdo GgLsdsdolo Mg703900LsmM30U.
d. LG99 E5330LS s 53BMTdEH030L I659ggbgdoL Br14n3983d0.
The correct answer is: 396530 gm@bsendo.



14) 909dGHOMBsAMgd0L Hmdgero bsfowgdo Mbos sdofjogl 96 sbmerqgls?
50MB0g 9MH™O:

a. yzgs bofowro.

b. 9e09dBHOM©bsYsMmOL yz9es bofoero, MmIgaro 39985mdol brn®mdoer M:90ddo sGol dsd3z0l
J390.

C. Y39 39EoyMo bsfoo, HmIgemoa 990dwgds 50dmBbogl dsd30l §3gd 0Bmemsool
©2639300 39900

The correct answer is: 4395 393560 bsfoero, HmIgeroi 990dwgds s0dmBbgl dsd30L 4399
0DBM5300L oMM3930L 999,

15 ) M6 Mbs 935300 IBsYPMOL MrodEYbodg gergdgb@o 9P sdsdofjgdgwHy?
50MB0g 9MOH»O:

a. 1000 3-909 95030l b5 YMgdOL F0gMHmNgds 59dsIMME0s BsoGm™ 80dE9I30™MIOM,
beenm 1000 3-b B9800 Fbmerm 356(0ge@s.

b. 35MOIYMIQ _ YMZIO 353970 91gdg6H0 300190m©gds ©3:30(gdgwl 3939
23993 5M0L LIS GdO.

c. 900936M™d0m _ 9996000905 535809390 4593909000 ©sbsAM0L Msdmgbody
99396@0 s 9L iM90 F0gOHMEYOS sT50fdIEOL.

The correct answer is: 35G5¢9EMHSO _ 4M39e0 (3503900 9egdgb@Eo 30v)gmm©gds
058530{909eb (350039 39G9M0L LTS GIOm.

16 ) ®MMM0 99583960 Mds 96 3JMmbgl 05 49939560 T5T0fgdgE 458ESMYOL?
506B0g 9MHmo:

a. foogwo.

b. 56 0090900.

c. 8s30.

d. 8(3569.

€. 43009o.

The correct answer is: 9530.



17 ) 396500900l H@am©o Lobgmdgdo g58m0yggbgds 9bgMymmdogd@gd by woygbowo
9mmbM36900L gob5079dMdOL M HBEOWB39wLoYmBs©? 50MHBOY gHmO:

a. odbdoMy.
b. 835, 535M00.

The correct answer is: 305, 535G0v90.

18 ) ®oom obLbb3z530gds 35 29650930 Lobs0IGdO 535M0EOLOYS6?
50MB0g 9MH™O:

a. 39692900l 5QPOWOm.

b. 60dbgd0m 56 gz39H0MdOm.

c. Bmd9gd0m.

The correct answer is: 50369000 56 993960 MdOm.

19 ) 9e9dBHMM650YM9080, HMIIE0 4oIMM3900 356939336935 OHomEnls?
50MB0g 9MOH»O:

a. 39053900, HMIWGd03 OMT0S 35)9E0w0 S FIMOoMbMZL Lo3MTNEBHOEFOM 5356M10EHJOOM,

©58580{909e0 358000339 gd0m, LEMYEIGM 330V, 535M0BH0bISMTYYM S Ogs0dvEO
53353030l IfYmdow™mdId0m M3gMo305ms Msbdodgzmmdol L3xE0SW IO 3MEbLL.

b. (90 q003 800bM3L Bo3MINESFOM 535653JOOM, ST50(IdIWO 53039 GdOm,
LG9 (330U, 535005065 IAM S M9s0dYOo 53EHMT>E030L IMYmdoMdId00
396530505 93536 156309 930IMd.

c. 153M3FHOG0M 535M5@JO0M, 53530(90gE0 2580339900, LEMIYEGM OE30L,
535605L5(0b5508YYM S M9:108ME0 53BMB53H030L BM[YMBIOWMdYd0m 0F30505
9Ll GOYEO M3GMS30900.

The correct answer is: ©9q003 IM0mbM3L bo3MINBIF0M 535653 JOOM, >T0(jgdgEro

390000839 gd0m, LEMIEGM (330, 535M05LF0bS5MAPIAM S 09700 53EHMIdEH0IOL
9fymdOEMmdgd0m M39Mo3050 93536 096308 Y3MIMASL.

20 ) HMIgero ™3dgbEHQd0L dgLedsdola wbs gl ¥yengls yzgars
390503900 9e9JGHOMBOYIOJOLS S J39BAIMJOT0? 50MB0Y GOMO:

a. 9696M2M™d09dGHBY 3oIM3900L LoHoMTMgds® F9gdbo3wemo bgerddmzsbgeols 2ob3otyregds.
b. 390563900l Fo63mgdols 0bLEGHMMJ30900.



c. $9P.
The correct answer is: 3500560©™3900L {o6dMgdol 0bLEGHMMJ30gd0.

21 ) 65 9900b3z935905 L3900 9e9]BHOMPIBIAMGITO 49 IMMNZ900L Fotrdmgds
B900aMd0 Mm39M5E0ME-BoEoL3YERIOM 3gOHLMBIOL gob35MAMgdOL oMgdy, Dogsad
dolomgol d93ymado d9@EHYmdobgdom? sombog 9O mo:

a. 09O 99900b393900L5L. bGHOJoIMO 139 IMYGIOLOL. boBIMOLOL. 535(O0LSL.
b. ®996M300 IgmB0 6SAIMOL godmiEEoLLL.
c. 3mfymdoEmdol M9ImbE0sb oMJox380 goygzsbolsl.

The correct answer is: “)09)M0 99900b393930L5L. BEH0J0MMO MB9GOMMIGIOLIL. BoBIMOLL.
935M00LSL.

22 ) 65 99000b393530 993L 98390 490013900l dmseme dgaLbMvIEgdgEo
396530 936 gdge 39OHLMBIEL, TMY300YIWSE 25dMm0Y356ml 399F5Mmd0ID
MBOBOHOBMYGOOL dEM000900? S06HR0Y 9O™O:

a. 4yzgro 9900bgz935d0 3390 90s.
b. 099 39OLMbBods 2odM3e0bs dEPMIOMGIOL gorgdormsMd..
c. 099 9 330650900 byl MOl 25MM3900L FoMdmgdals.

The correct answer is: 4395 99000b393500 53390900,

23 ) 599300290900 0¥ 565 IX0GMHO JoMol OML (12-15 3/(3) docomgzgsbo
AOBLBMOTSGHMMOL 253039006 396EH0WOGHMMYOOL 2oTMOMZS S0MROY 9BI00:

a. 505
b. 30

The correct answer is: 30

24 ) 439L5RMOT0 MOHOMO IMZI0IMIOOL EOML YMMOMIds 93939 FbMErMmeE d9dsmdsdo dgmy
9fymdoEmdgdL; (GgbgM3d0 dgmazzo dmfymdomdgdol ImMZoe0gMgds 56 SMHOL 530 gdgwo).

506B0g 9MHmo:
a. 30;

b. s



The correct answer is: oMo

25 ) B®-60L JugEP0EB FoTMOMZOLSL KGO YIBS QOFMOMM ML STMIMMZYIO Jo®o0 dsd30L
dbs9L, 3999 30 5dMIMM39 GO0 IBSE0 S LTS M dsd30L Tbotgl. s0Mbog 9hHmo:

a. 5o
b. 30;

The correct answer is: oo

26 ) 396OLbmbs0, HMIgoE WIS mE BYImddggdl 9bgMHAMPIBIYIMYdOL FoserNZ0L
63560909 5 sbmME0gwgdL gargdGO™ dMfigmdoEMmdgdol JoMmmM3oLs s IMALEbMEMYdL 33wsdo,
39693m036900:

506MB0g 9OH»O:

a. m39M530-obL39ERIOME 39MLMbIEL
b. m396M5& 0 396OLMmbols;

C. M39653H0-LsMgIMbEHM 39MHLMbsls;

The correct answer is: m3965&0v)e 39OLMboL;

27 ) doem3560 GM-M0b 4509303930 F0e0sb dmbs Bgmob s3mxzmJ3939, BHEM-ML 459Bbws
b56d560, BH®M-M0 JugE0IH 339000 56 oAMOMMM; IMMOYOL ImMJdgEgdss: S0MBOY 9MMO:

a. 995¢ymd0bml olidgEHRgml s sgEMmEMUL ol 396356 EgdsL
b. 359mO®™L GHEM-M0 JugEosb, 9999y 895¢HYMd0bML OL3YGRYMOL

The correct answer is: 359OMML GHO-M0 JugE0©L, 9999 F9o¢YMd0bML oL3YERIOL

28 ) 53560 BHO-M0L 3gd39MoG OOl 3MbEOMEo Mbs Imbeql:
50Mb0g 9Mmo:

a. 0903mbobse0BsEMMOL B3969d0l dobgz00m

b. &®-60b 3MH3MLBg bgeols dgbgdom

c. 35965ddMMdTo Lo 35390l BIMOL Jobggzom

The correct answer is: 09Hdmb0gbsE0BoGMEOOL B396930L dobgz0m



29 ) 53090905 ¥ 565 J39L5POT0 (33OL FoIBIMYOOL MM BgMLaglg
9fymdomd9ddo Bgmol mbygdols s dMxgbgdol 9gdmfidqds: soMBog gMmo:

a. 30;
b. s

The correct answer is: 30;

30 ) ®©m3go dmfymdomdom bgds dm 3w dgmm3zol gbgdol dodmcmmgs:
50MB0g 9MH™O:

a. 9m39gRsdmmzgeo

b. 58m3GM39wo0;

€. 250000839w0;

The correct answer is: 5dm3G039W0;

31) 290539¢d503930L556 L3935 AoTM0Ygbgds:
50MB0g 9MHmo:

a. 9(3390;

b. 398008390

¢. dgwgwo;

The correct answer is: 9;3¢0900;

32 ) 3590003390l 353M030L5L, Jobo 306BOEJOOL 2obLBOL MM, 2oRBS MIseo;
50 990mbg935d0: 50MHB0Y gOHMO:

a. Q350MBbMm 253033900l 36¢)5d3HJd0 89360 BEYMTsMYMdSTo S 89358Mm[dmo Mm39Mo3zool
Lolfmeg.
b. G55 8909905 BJos Mbs 809309l 2590003390l 45bLBOL M39Mo3E0s;

The correct answer is: ©©53506bM® 259103390l 3635 3H9d0 9360 FEYMI>MYMB5T0 >
3935000 m396Ms:300L Lobfmey.



33 ) 15539999 OGMOM BoBOMYS 339053L:

506B0g 9MHmo:

a. J39LoRNMOL M3gMaGore fHIEIdL;

b. J39L5YMMOL L3OO FbTsGgdOL HGHgIOL.

The correct answer is: J395MOL M39MsGHOMW (HMgIOL;

34 ) 35b9bolidygdgE0s 0379 565 M3JMHEH0YIE0 39OLMBso gargd@MmMIM{ymdow™MdgdOl
LG dmBLobmG9dsBg s o0 ©9935M0M FMTomdsBY: S0MBOY gMI0:

a. 30;
b. s

The correct answer is: 30;

35 ) 9350905 0779 5605 M3gM3E0 39OLMBsElL Folisdo 399 YOIMJINE MdOYIG DY
LoLRMH30Ls S FalOOYOL (339:

506MB0g 9OH»O:
a. 30;
b. 56

The correct answer is: 30;

36 ) ®390 IMfigmdowmds 30939336905 Lo3MNEHSEOM 535MOG:
506B0g 9MHmOo:

a. 5dmIOM3900

b. ©960L BHEMbLRMOI>EGHM™EMm0

€. 350301 GHMBLBMOTsGHMMO

The correct answer is: 5dm36»3900

37 ) LHmE05 v 565 29635MGH 90 — 39L5PIOO 5HOL JegdEHOMPIBIYIM0, Bos3
bgds 994 GHM™gbgH00L 4983353909, 39M57dabs s 2obsfogds. soMmBog ghmo:

a. 30;



b. 565

The correct answer is: o5

38 ) 6905 MMNY0s 0399 505 J39BOYMT0 53500l 0 330IEOOL OML FMMOYYMOOL
3300l 250000569ds: 50MB0Y 9OHO:

a. oMo
b. 30;

The correct answer is: oo



T\

1) 306099 ©599b0o §93M0Ls96 Mbs 990093l dM0ss? (Bbero 2. 3 1)
506B0g 9MOHmo:

a. 90565390 bmo (9360l LodMdomb dfomdmgderol s6 dgmzswyrMob Bosmzwom
b. 5605653c090 M0 93600l Lodwydoml IFoMTIMGdOL b gm35¢gwMOlL Bsmmzwrom

The correct answer is: 5055530093 0 {j9300L LsFMoml IFoMTIMYdEOL 56 Tgmzs¢gmEMOL hsmgEom

2) 296%9U-00583905 560 ©935¢0gds Lodw)domls HomdmMgdsDY, FoBMMTYIVo oY9bowo
53mOdom B3YE05YO dEs63DY, HMIWOMs3 FBLIDBWIMHICO 56 SGOL ..... .(3.23.7) 50OBOY
960!

a. LodxFoml JobssMLO

b. LodMdomb )YgdoLs s FMHZ3MYdOL O™

¢. 909JAHOMEBAM0L 39ds Mg50dob FoMdoMmngs
d. Lodxdoml 50O

The correct answer is: 9¢09JGOMBsAIOMOL 35 ©950T0L FoMToMMN35

3) 296(9L-5d3905 5010l 35¢gds Lo domb [oMIMgdsBY, 39530MHTJOMEO OAIOOEO
13mO3om 39305 IE dEs63DY, MMAWOMs3 FBLIDBWIMHIO 56 SGOL ..... .(3.23.7) 50MBOY
96»Oo:

a. bb3os LYFMToM SO BY Fooy3z56s

b. MLsxOMbM© Bo@sM19d0L 30M:MdId0

c. LYIMTomb MLsROMbME TGuOEgdsHY 35Lbolidygdgwo 306900l Esb0d3bs
d. Loddoml bgeddmgzsbgerms Ggagnmbols bmdemgdo

The correct answer is: Lo3-)domb bgerddm3z569ms GHgugnmbol bend®mgdo

4 ) 9g99000 §9lgdol Mbsbds gargdGHEmwro 390l 493w 9bol Bmbow omgzegds: (IMbero 2. 3. 25)
506B0g 9MHmOo:



a. bLogm3g, HMIgedoE EdVYMBS 509doGgds 10 33/0-b
b. Log®Mg, OMIgdoE odsdMEIMBS 509dsBgds 5 33/3-
c. bLogm g, HMIgeToE EdVYPMBS 50gdoGgds 15 33/0-b

The correct answer is: LogM 39, OGO SO MBS 509F53gds 5 33/0-L

5) 439800 B53mM3w00 grgd@OHIE0 5356M5GJO0D HMIgo 56 4969310036905
15303 ESEOM 53565E9OL? (dbero 2. 3. 46) s0MB0Y gBMO:

a. 5dmIOM3900,3535¢ 393909000
b. ®95d&HMM0. dsd30L GHOBLGZMOoEHMMO
€. 3500003390, 533H™MI5E0, IEHZ0MM30L STMIMMZ9)WO

d. 3539360 5dmIOM39e00, d339000
The correct answer is: ©95d&mM0. d5030L GHOBLGMOTSEMOO

6 ) ®599b0 39305 330L BMbs 1-20 33-000g LE359MM JegdEHMMYSsd39d0 bsBOLsMZOL ?

(0mbero
2. 3. 28)

50MbB0g 9MHmo:
a.15d
b.109
c.259
d.200

The correct answer is: 10 d

7 ) 65900960 39305 3308 BMbs 35 33 LE3sgMH™M 9egdEMMYST(39d0 bsbolsmgol ? (dxmbero 2. 3.
28)

50Mb0g 9Mmo:
a.15d
b.250
c.1090

d.2040



The correct answer is: 15 d

8 ) ©599bo 9B M05 3308 BMbS 110 33 Lo3sgMm gergdBHMMYssd3gdo bsbobosmzol ? (Imbero 2. 3.
28)

506B0g 9MHmo:
a.15d
b.2549
c. 200
d. 100

The correct answer is: 20 d

9 ) 590960 39BHE0 153509 M J9JEMHMYss9(3990 bsBYdOL (330L BMbs? (Fmbero 2. 3. 27)
50MB0g 9Mmo:

a.6d

b.30

c.19

d.50

The correct answeris: 19

10 ) 306 2969399036995 LoMgIMbEH™M 3gOLMboEl? (Bmbero 2. 3. 44)

506B0g 9MHmo:

a. 139305 IMS© FobLFs3 0 s IMTDsEIdMo 0bgobgM-39dbozmemo 3gMlmbsgro,
(1990003 396050 9aLEHYIMYGOs AslBg LB FMEMXMB00 Fo30MMm3690E IBsYHIMIIL

b. 396Lmbseno, MHMIgeos OO MB3gEygmxl 9egdG® o Imfigmdowmdgdols ¢9dbozn®
9AbsbHYMHGOL S MGIMBAEL, BMbEomL ofigmdls S 2oTMEIL

c. 33580 LsIMOHOYIM® FYMBO 300530, HMIWYO0E ©s9393bO 5H0D M3gMoEG oM
3563585 S M3JMSGHONIE A9PIOMZJODY; OL3YGHRIMYO0, 330l MBOMLYd0, FM0Y)J00 dobsby
@5 35OM30L BMgdBY, M396M5E0ME-goal3egeo dGOYIIOOL 930900

The correct answer is: 396LMbs00, HMIgoi M OOMB3gymal 9wgdEHMEo Imfiymdowmdgdols
39960316 3mBBobEdL 5 YMBEL, IMbESL 39HgMdLS O FodmEaL



11 ) ©5 3500055 bgds MMM gM0 Fobfigliols Imddggds MHsdm©abody 39l MHBY 96 ghmo
J39L5AMHOL M5Mm©9b0dg JobsgHNBg 3mTomdolsls Ladwdsmgdols HoYMOYMdOM

d9LsLOEgOSE?
(083 14)

50MB0g 9MOH™O:
a. 1 om9-0sdy
b. 15 o©g-0sdg

c. 30 Ey-0sdg

The correct answer is: 1 ©©g-0599

12 ) 306 b5 25b39L g96Hglo 395b5fowgdgeo Imfigmdomdols GHaMo@mMosby
396590 L359H M bsBOL ds6gdbY LsdMTomgdol JgloliMmergdws? (dMbero 9 31)
50MB0g 9MHmo:

a. 153509 M bsBoL AMALObMEMY 3gOLMbods
b. Ls359MH™ bsbols Fmdbobweg 39OLMBseds
C. 3995bsfowgdgwo dmfigmdowmdols dmdlsbwyeg 3gOlmbowo

The correct answer is: Lo359MM bsBob dmALobmeg 3gOLMbods

13 ) ®5 d90mbgz935d0 9939, dcerm LogMgbBg 3mdds39 LEbIBM dMOYSOL bsdmTomls

3HoM3mgdgrl g5ds65H0wgdgmo Imfiymdomdol golismgdo s YIBWYdS JMM30MM36Ws©
903009 LBoyMHYbms6? (Bmbero 9 3 1) s0MBoYg ghxo:

a. P9Lgdom 5G5S FoMZ5EoLobgdEo

b. 8mgdgoo Hgbgdol sE30m, Y3gws 999mbggz5d0

C. 9099AHOMBP0M9OT0 5RO MDIM030 M3JMSBH0IO 39OLMbowol 96qT9

The correct answer is: 9029 GHOM650YMJOT0 5 FOWMBOOZ0 M3JMIEBH0O 3gOLMBIEOL gocgdy

14 ) 306 5g3mM39gdL Lobsbm dMHOYSOL 33905l W0S 2535650 gdgaro dmfigmdomdols
3O GHOWgdHY S bMWY 458565H0qdgw IMfigmdomdsdo dvdsmdolsls? (3mbero 9 31) soMBog
9600:

a. L35gMHM HsBoL IMALobmEg 3g@mLMbswo



b. L3509 bsbols ImALsbweg 39MHLMbseo

€. 39956500090 Imfigmdowmdols Imdbobwemg m39MHo@0IEo 56 m3gMmo@om-boegdmb@m
396Lmbso

The correct answer is: 359565{0909e0 dMfjgmdowmdol Indbobmeg m39MsEH0IEo 56
3965@0MLMm9dMbEGHM 3gOLMmbowo

15 ) 306 b5 25L39L 96H9L0, 498565H0wd9E0 IMFYMdOEMIOL BHIOOEHMOO5DY 45T035¢n
153599 M 5HHYOT0 Bos3gdE 1153509 ™ bsBgdbg ddsmdolsls? (3xbero 9 3 2) soMBog gomo:

a. 3995bsfowgdgwo dmfigmdowmdols dmdbsbweg 39Olmboends
b. Lo3s96Mm bsBol dmdLobmeg 3gOLmboeds
c. L3509 bsbol mdlobwyeg 3gHLmbogds

The correct answer is: 1153509 ™ bsBol IMobmEg 39OLMBsETs

16 ) 306 sbmM 30990l 593905 godsbsfiorgdger dmFymdoEIMdSTo 2obarsygdren deaenm
J1960HmgdbY o B3sM9393b9g 3MTomdolsl? (Imbero 9 32) soMbBog ghmo:

a. 13509 M bsbol mdbobwyeg 39OHLMBsEO godsbsfowgdgaro Imfiymdoewmdol mdlabwydy
3965@00 956 m39MH5E0E-boMgImbEHM 39MLMbsEol Fobslifsmo T9@EHymdobgdom

b. 358565(0wgd9e0 dmfiymdogmdol dmdbabmg 396Lmbswo

The correct answer is: 58565{0w 9090 dmfjymdowmdols Imdbobwmeg 3gOLmbsco

17 ) 306 sbmM 30990l 0593905 godsbsfiogdgero dmfymdowrmdol GgHodmmosby
39953500 153509 M 5MHHYOT0 RGO L3509 M bsbgdbg 3Fomdobol? (dMbero 9 32)
506B0g 9MHmOo:

a. 3odsbofoergdgwo dmfymdowmdol dmdlobmeg 3gMlimboo

b. 153509 M bsBOL ALEBLIMY 39OBMBIWO B565H0gdE0 FMFYMdOEIMBOL BMALObYIMY
39653000 390LMmBsEoLsYs0 BgdsMmM30L Jormgdol 999

The correct answer is: 1153509 ™ bsBOL IMVobMEg 39OHLMBIO A5Bsbsfogdgwo dmfigmdowmdols
93LobOY M39MH5E0E0 39MLMBIEOLsRD BydsM™MZ30L oMgdols d9dwg

18 ) 65 35000m55 BBMMNY0 456356MgdOL go(3995? (dgbero 11. 31.)

506B0g 9MHmOo:



a. 9053939l 5 VoM

b. 5®Lgdo {aligdom 45635603 gdol ImJIgEIOOL 35S 595 2obLEBEOZMWWO

C. 3963562905l 593L 9OPX JOSO bobosmo s dolio dMmJdgEIdOL 35S 2obolOBEOIMYdS
3906909 ms bodwgdsm OOl baby®mdwozmdom

The correct answer is: 4563560299d5b 59436 9OPX IO bobosMO s dobo dMJdgEIdOL 35S
2960L5B3M9ds F9aLE¥gdgms 1sdwYdsm ol babymdwogmdom

19 ) 690505ME05, 0319 569, 4553503 GdOL 350U QoaMIYEgds? (3mbero 11 31)
50MB0g 9MH»O:

a. 536350

b. Bgdo@IBIMos

The correct answer is: 5360350

20 ) 30b gdeng3s L domgdol g gdsbg 4ob35MYMWgds? (3mbero 11 32; 33)
506MB0g 9OH»O:

a. BodMToml AHomIMYdIL S 5ITZGOL 9B LT 50Ol FMTDoEYdLS S s33905BY
690560030 959398 306

b. 56{gLob 359390l
c. 8/ 9969x9ML
d. 3005356 0b750bgML

The correct answer is: 15329domb 3HoMIMYdIL S -TIZ9gOL 96 Bod T 50Ol IMIBEYDSLS O
©593905B9 BgdsMM30L 259399 30O

21 ) 306 969399736905 M3gM5E0M-LsMBMbEHM 39MLMbsL? (dMmbero 2. 3. 43)
50Mb0g 9Mmo:

a. 065066900, 39d6030mb9gd0, mbEEgd0, 3993900, HMIgdos foedmgdgb

994 GHOMBOYMMII0LS s J39L5YIMYIOL JEgEOMPIBIAIMYIOL, Lgbg-dob, Lizgb-dol,
LG9 (330U, 9533HMToE030L, FBMI0 bgelisfiymgdol, gbsigols s 0bmmwsiEooL,
©0obL39EBYINMEO s BgdbmEMmyOMEO Bser30L LdMsEgdYBOL Bogdu3W s S(30M-LoMYIMbEEH ™
9LobHYMHGOL S A5TOMZOL



b. 139305 IMS® FobLFs3W 0 S IMTIDsEIOMO LoMgdMbE™ 39MLMmbswo, Gmdgwos
3965305 9ALbYMHYds Fobibg OO FMEWMEMIOM J5300HM3693 sbsAIGMOL The
correct answer is: 1393055 ABLHI3O S FMIBHYOMO LoMgImbEM 3gMHlmboero,
g0 M39M9G0Es JabEbMGds JolBY OO IMEMPMBO? o30MHM369gdIE BSYIMOL

22 ) dcmgdgc0 Hglgdom 6gdsIMMI0s 0349 505 396350 gd0m FglaliM¥egdgero
1539 omgd0 FglOEEIL Pobfglom? (dbero 11 36) soMBog 9OHmo:

a. 6905 MM J5dMbs3ol T9dmnbzg39ddo

b. 69055M0790s FBMEIME 450054100 B5Fw)domgdols Fgleyargdolsls
c. 56 560l BgdosOH Mo

d. 69350 4yz9es d9dmbgzgzsdo

The correct answer is: 5505505 439es d9dmbggzsdo

23 ) 039dS 049 565 1 -B7 6530900 bsbaMI03Mmd0L LsdFotmgdo B335
Lodw)domgdo?
(8mbero 11 313) s06MR0Y

960!
a. OosH
b. 56

The correct answer is: Qosb

24 ) 909dGHOMMBBOHNbMYdOL HMIJo X 3MR0 »bos 3Jmbogl, dM0YsOL F930M9gdl, HMIgdos
SO 9396 bsbIM g s J9HMYdYE BT Fomgdls 1000 3MEEL HBgdmo

999 BHOM65YM9d30?
(8mbero 11 316) s06Rog

9600:

a. 4395 300500b {93ML LsdMTomb bgwddwgsbgwols Bsomzmom wbws 3Jmbogls
999 GHOMMLSRONHMYOOL 56M565309d 1V 1553350005803530M X YMIB0

b. MBOL 3061 M39MHGH0M 56 m39M5EH0M-LoMgdmbEm 39MLmbswols 99950y9bemd0sb,
MMIgos SuOEgdL BodMTomb 96 SHMEM309wgdL BYITHY39MdLL, b 3Jmbgls
994 EHOMMLIFONHMYOOL 56M5653009d 1V 1153350005803530M X3RO, bsMRYE dM0gswob g3tqdl il

B5335€0BOZOFOM XBIBO



The correct answer is: ROML 306L M39OHGHOMW b M3gMHGO0WNW-bsMIGIMBEM 3gOLMmbseols
390500396 md0B, OG0 SO gdL Lodw)doml b sbmM309wgdl BgsTbgL39EMBL, b
3Jmbql 9e9dGHOMLOBOHMBMYGOOL 565653090 IV B53350TB03530M X FMB0, bsMBRIL dM0YsOL
£936090U 111 15335C0B03SGOM XYIRBO

25 ) 4399001 B3Mm30mo96 HrMIgeo bsdwdsmgdol dglcrHergdss slsdzqgdo 1000

33537 35930l 9e9dGHOMIBsAMG3T0 2963503 Mgdom? (IMbero 11 37) s0mBog gPmo:

a. bYIMIoMgdO Podsbofiorgdgero dmfymdowMmdolL d9836M90 Lo ggd by

b. 69008090, oS 08 LEFMTsMgdOLS, HMIEYOOE MBS BoBOMIL #d-0b F98369d LoeEggd by,
39056099 5356Mm90Bg s 0bYo JobogMHMYODBY, Loosbs dsd30L dofimgds Tgbodergdgw0s
39936090 Lo Eg9gdbg

c. bLY3MJomgdo F0gHMYGOYdBY, MM GO0IBE3 TgladergdgeEr0s dsd30L Jofimgds 9903090
bac)gd0g

The correct answer is: 550000960, 356 00 BodYdomgdOLY, MOMIGdOE b BoEIMEIL 23-0b
39936090 Lo EggdbY, 25956(0wgdgw BsMYODY s Vg F0bsgMMYOBY, Lo0WIBsE dsd30L Jofjmegds
d9L5degdge0s 993090 LoenEHgqdHg

26 ) G5 9900bz93590 543L 3ozl MLOBOHPHMYdOU I 533900l X yMB0m, LodMToml
3HoMImgdol MBwgdom, 0899950b 2563560329000 9OHMNI0MHMZ6vIs 1000 3menE5d©Y
994 GHOMbsAM93d0? (mbaro 11 38) s0MBoY ghomo:

a. fobydoo LYo F9dNH3939d0 5G5S FoNZooLobgdMEo

b. ®mgLss 9gdBHOHM©65YM0 355531900 5sT0s67d0l gengd@®vyero 9gboo
5H056900b gobliozmm©gdom bsdod Lomagmgddo

C. 0¥ 9e99dGHMME65YIM0 FobmoglndME0s 5053056900l GegdBH I B0t IBOBYdOL
6539050 Ld0d Lomoglimdo

The correct answer is: 0¥) 90994 GHMOM650PM0 4560531930 5E5T0s67dOL gergd@Ewyero
9600 ©sH0s69d0L bs3egds B0 LymsgzLmdo

27 ) 250565f0gdgen dmfiymdmemdsdo 2,5 d9@©sdg Lodsmwgbg 35996M9d0L godgom
3965290990 BsbsmO 535GM5EHIMOL T939079d5 S FMALEBLIMGdS Fg0degds FgoliGrvenmls
396396029 gd0m gegd@MHMMLsBOMbMYdOL 5563w gd . . . X3MB3oL dmbg 3m3s30s.... (011 38)
506B0g 9MHmo:

a. Vv

b. I



c. IV
d.

The correct answer is: Il

28 ) ®dgo d0b0dFs@o MLsxOMbMdOL X R0l dJmbg 306035 890degds sslivygzmamls 1000
3 05050 35930l yd-0b M IRBIBO s LomMsglmgdo (GMIwgddos YbysdGHIMO Boflowrgdo
399mMd0W0s), 53609039 F50030L B0l Jgbmdgdo. (3 11 38) s06B0g ghomo:

a. lll
b. 1l
c. IV

The correct answer is: Il

29 ) 005 359565{0ogdgwo Infymdowmdol slivyz:mszgds JOHM30MHM3bMWws©
396396029930 d99deros 9golitrmeml 8v9ds3ds 9e9dGOMMLOIBOHPHMYOOL 56M16bs3wgd (3 11
38) s06Bog 9MHmo:

a. ll
b. IV
c. i

The correct answer is: 1l

30 ) ®™39o d0b0dw)ds )Mo MBsBOHMBMYIOL Xm0l dJmbyg 30685 Ggodwgds
96®30600Mm36Wws©, 296350 gd0lL 3593930l 6gdsMM3000 FJoliMreEmls As8sbsfogdgwro
9fymdoEMmdolL gocgom, 2,5 9O Bgdmo gobesygdgaro Lsbsmgdol (jdgbos s boomMgdol
d933ws? (9 11 319) s06MHB0g 9OHMO:

a. lv
b. 1l
c. i

The correct answer is: lll

31) 56L9dMo F9bgd0m FoM35eoL0bYINY0S Mg 5Ms LodMdomgdol dgliregds gobfiglol 56
396350930l 20530930 356939, 080bsMY gdudes@oE00l 30MMmdgddo? (dmbero 12 31)
50MbB0g 9Mmo:



a. osb
b. 565

The correct answer is: 0sb

32 ) 306 996931036905 5060LEOS30-Egdb036 39OLMBsL? (Jotron. y3. 9)
506B0g 9MHmo:

a. 1393055 A9BLFI3EMO S FMIBHYOMO 0b50bgM-Egdb03MM0 39MLMbsErO,
6990003 M39605EGH0E 9aLEHYIMGOs FolBg LB IMEMXMBd0’ Fo30MMm3690E IBsYHIMGIL

b. 3996000569000, 530¢05¢qd0L, IMALEbHYMHOOL (396EHMYOOL, LosddMmgdol,
@OB¥MMIEMOH09d0U, 9egdEHMMILIEOL G50MbYdOLS s “JBBIOOL FobymaogddoLs S
LodLobmEdOL bgeddm3s69wgd0, MBOHMLGdO, 50608610 306HYdOL FMOYOWGJ0, sAMIMN39
065066900, mbEo3H900, O™ GOLE 930U6MGdM 5EI0bOLEHMIF0IO BwYbd 30900

c. 065066900, 39d6030mb9gd0, mbEs@gd0, 3993900, HMIgdo3 foemdmgdgb

994 GHOMBOYMMIIOLS 9 J39L5YIMIIOL JE9EOMPIBIAIMIIOL, Labg-dob, Lzgb-dols,
LoMgangem (330U, 533MTsEH030L, 3BMIo bgelisfigmgdols, dgboEzols s 0bBmsizool,
©0obL39EBYIN MO s 3gdbmEMmyOM©O BsMm30L LEdMsEgdOOL Logdudw s o30M-LoMgImbEH™
9LobHYMHGOL S A9TIOMZOL

The correct answer is: 359000056900, BoE05¢9gd0L, IMABsbGGOOL (396&OJOOL, LosdJMMmgdob,
W3MMSGHMO0JO0L, 9¢9dEHMMILYTOL M50MbgdOLY s ©JBBIOOL FobymBogddOLS S
BsdLobMEYBOL bgerddm3s69wgd0, MBOHMUYdO, 506036490 306Mgd0L BMsEYR0Eggd0, 56039
065066900, mbGo3900, HMA9dLsE 930LMYOIM 50T0bOLEHMIF0o BwY6309d0

33 ) ©5 Imm»bM369d0 Mbs 0gmb s3I0 30dE0bsMyg 9dudwIsEsEoL 30MMdgdT0 d)dsmdolsls?
(8mbero 12. 3.1) s06HBog

960!

a. 30906569 9JU3Y5ESEO0LOL Fotds OLETZ9005 Fbmem 1000 3menEodg dsd30L
999 HOMEBsAM9dd0

b. 3090006569 9dL35Es300LOL IMTomds slyd39005 Fbmeme 1000 3-b Bgdmo Lgab-bg dsd30L
LGOI dmblboom

¢. 30806569 9Ju3I5GHSEO0LOL FMFoMds EoLETZ9d05 1000 3-U B9gdme dsd30L
999365909030 BMEMmE dsd30L LG Bmblbols s Lodwmdsm 50Ol sdofigdols
306009080

The correct answer is: 308065607 9JU3E¥)5@S300LSL BYFotmds ILIZ9d05 FbMEm© 1000
33587 35030l 9e9dGHOHMPIBsMYdd0



34 ) 390 806035¢r G0 9e9dGOMLIBODHBMIOOL 53930TB03S(30M XAIRO T9J0dEgds

3Jmbgl m® 3530560 dM0g0L {930, Lsdmdoml IFoMTMYdEOL Bsmgzwrom? (Bxmbero 13 32)

506B0g 9MHmo:

a. 9M5653w9d IV xaa0
b. I X3Mx0
c. 56056530090 Il Ym0

d. 50565393 Il x2530
The correct answer is: 50565399 Il xan0

35 ) 36M05000L ymzgger ll x3530L dJmbg §936 g 90degds dmomq I xXamz3ol dmbg
13 33.)

50MB0g 9OH»O:
a. 2 (o360
b. 1 §9360
c. 39360

The correct answer is: 1 {j9360

36 ) 65905 IMMNY0S, M 565 LoMYIMBE M dMOYSOL F98500R)bMdT0 Bosbromeo
09658 M396M53H0Mo 39OLMmbowo? (3mbero 13. 34.) s506Bog 9OHmo:

a. OsbH, IbMWM© BgdaMIo M3gMHsEH0WOo 3gOLMmbowrol bydstmzom
b. ©0sb, Mm@ BMbol MaG@Lol bgds@omgom

€. 0sb, IbMm Fgbsdsdobo §3929569mBogdol MROMLOL BydsGmzom d. s6o

... (3bemo

The correct answer is: ©05b, I HBgdAMI0 M3gMoGHO0MWwo 3gOlimbowol byds®m3z0m

37 ) 306 0d935 67056035 M39M5GH0o 39MLMbIOL LoMgdmbE ™ dM0YssTo BYdsmdsby?

(89bero 13. 34) s0MBog
9600:
a. 00053500 0606960

b. B99a™30 m39MoG0o 39MmLMbswo



c. 396(9gLob god3900 3060

The correct answer is: 99930 M350 39OLMbseo

38 ) 30U 593L YRBW9dS 890@BMUL (330 gds 30Ol d9ds96emdsdo? (Imbero 13 35)
506B0g 9MHmo:

a. dd3z90L

b. Bod sl dHocmmgdgenls

¢. ©90aMd Mm39M5¢0me 39MHLMBseL

d. go6{glols 200393l

The correct answer is: 356{gbob 2509399l

39 ) 65 99900b3935d0 MBS o039L 396Hglo by sbars? (dmbero 13 36)
506MB0g 9OH»O:

a. 000500l d9d5009bermdOL dgladgol dga3wrolsl

b. 05393900l 99;3300LOL

c. 36050l 899509bMmd0IH 3 o3G0l TgE3Kolsls

d. Lodx)doml bgerddmgzsbgarol dgE3wrolsl

The correct answer is: 15329domb bgeddm3569e ol 9933w0LSL

40 ) &5 d90mb3935d0 1B gooigL FobHiglio bgwsbws? (dmbero 13 36)
50MbB0g 9MHmo:

a. 9935y mEol d9:3300bol

b. Lsd ol AHomBMmgdrol FgE3erolsl

c. 39609Lob god39d0L Tg;33e0lsls

d. 00025000l 393500939bcMd06 2 93¢0l Fg33wrolsl

The correct answer is: Lod«)domb dfoMTMgdol Tg3300Lsl



41 ) 65 990mbz935d0 1B gooigL F9bHialo bgwsbws? (3bero 13 36)

506B0g 9MHmo:

a. LT 5EPOOL IMIDsEIOsBY S 593905BY 6gdIMMZOL 2593900 30MOL FgE3EOLLL b.
053339000 99(330LOl

c. 000500l 9350039bcrmdOL Bobgz56:Bg dg@om 8933obols

d. Loddom 50Ol IMIsdbBoYdOL 9330l

The correct answer is: 0605000 99950090 MdOL Bobgzsm-Bg dg@0m Tg33eolsls

42 ) 1L53w)dom 5EAOOL FMTDOYOS O 3905 F90dgds Fbmem© 6gdsOMZ0L Jogdols
3900092, 306 0dg9g35 59 6xdIOMZoL? (IMbero 14 31) s0MHB0g gBmO:

a. m39M5@0)-bsMgdmbEHM 39MLMbswo
b. 3965300 39OHLMbErol 56 530LsM30L MREGdTMLOEO 3060
c. 396(9gLob god3900 3060

The correct answer is: 396530990 396HLMbIOL 56 5dolsmM30L YMBWGdsTMBOwo 3000

43 ) 306 296931036905 Mm39M0E0me 39MHLMbseL? (dmbero 2. 3. 42)
506B0g 9MHmOo:

a. 065066900, 39d6030mb9d0, mbEEJd0, 3993900, MMIgdo3 foedmgdgb

994 GHOMBYMMGI0LS s J39L5YMIMYIOL JEgEHOMPIBIYIMGIOL, Lgbg-dol;, Lzgb-dol,
Bo69EgM 5330V, 53G™oGH030L, FBMI0 bgwlisfymgdol, dgbsgols s 0BmwsiEooL,
0b393BYIOME0 s GgdbmEmyoMEo oMmMZ0L LodY5WgddOL LgJL3EYSESEOM-LoMGIMbEH™
9LobHYMHGOSL S Q9TIOMZOL

b. 33580 L5IMBHOYIM FYMBO 3060530, HMIWYO0E ©s9398EbO 5H0sD M3gMoG oM
3563585 S M39MSGHONIE J9PIOMZJODY; OL3YGHRIMYO0, 330l MBOMIYd0, FM0YYJ00 dobsby
5 356030l BoMYODY, M39M5G0E-358L3egE0 dMHOYSEIO0L 93601900

The correct answer is: 3300530 B5dMM0YIME FYMGBO 3060900, HMITGOO3 S390IEBO G056

39M5@0IE0 F5M35L5 OO M3GMSIGHO 35IMM390DY; OoL3YGBYMYd0, 330l WRGMIYdO,
96029900 00659 S FoOIMZ0L BoMYODBY, M39MOEHO0E-goABZEYE0 dHOYSIOOL 9360900

44 ) 3cgdgo §9bgdoom sly39000 M¥Y 509, LEFYTst 5EPOWOL IMIDsEYdLS S s939dbY
69050035 2500503398 BHJEgBMbomM? s0MmBR0Y gBxO:



a. osb
b. 565

The correct answer is: 0sb

45 ) 3000090 ©5dIHO 296(glomMss BYdSIMMNIO BG0YSYOOL sd390s? (dmbero 14 33)
50MB0g 9OH™O:

a. ®OMM

b. bsdo

c. byoo

The correct answer is: o™

46 ) dmgdgo F9Lgd0o 67dIMME0s, 149 565 A5BFgLOm AoBLEBEOZOWO LsdmTom
50030¢0L dMIB5YdOLLL MLsROMLMYOOL VMbolidogdgdol dgEaws? (3mbero 15 31) soMhog
9600:

a. 69050 5MMW0s LdwYdsml F0dEObIMYMBOLL (330 gdgd0L 9dmbggzsd0
b. 56 560L 6gds M0
c. 6305005 BgdAMB0 M39MSBH0IE0 39OLMbswol BydsHmz0m

The correct answer is: 56 5ol 6ydoEIGMMOYO

47 ) 301900,y 153 oM 500l ITHsIOOL 530L9dMMYds60, sdToml BfsMTMgdgErol
9096 5933900 dM35egMdOL G9gmogligdolsl (3mbero 15 32) soMbog ghomo:

a. 50 99900b3935d0 LMo 5Pl ITIDBsYdS 356 MBS FgolimrvgemU HI x50l dJmby
0605000U (930396 gPms

b. 565300056 53539000 MMbM3670L sOLYdIMo Fglgdo 56 0mZoeol{obydl

The correct answer is: 53 99000b393530 Lodw)dom 5RO OL FMTBoEYOS Fob MBS Fgolirryenmls 1
X3B0L dJmbg 305000l 93600056 gBrms©

48 ) HMI90 X AMBoL IJmbg dM05000L 930056 gOHs© F9mde0s sdMTom 500l FTHIGdS
L3 domU GO, MMIgEbsE Fgmog3LgdEo 593b ST39d0L BMZowgMds? (3Mbero 15 32.)

50MbB0g 9Mmo:



a. Il ©5d3900L xA30
b. IV ©©533990L xa30

c. 1l ©533930L X a9n30
The correct answer is: 11l ©533930L X av9R30

49 ) (MO b IM[IMbIL s3d3900, HMA LLsdMTom 5RO BMIBHYIME0s? (IMbero 15 33)
50MB0g 9MH™O:

a. bYFMToM 5 YOOl 30MISPO PIMZIW0IMHJIOM, M3JMSE0IE Mbsdo RsbsfgMgdom,
3965300 Bggdom, m3gMHG0 s M39MEH0E-BoMgImbEHM 39MHLmbsrol dg@ymdobgdoo b.
29609Lob 259(39d0L FgEymdobgdom

c. 933 80053560 0b5066MH0L J9gEymdobgdom
d. 396(9Lob ,,3oe39v9o 30M0mgddOL” LEHMOJmbEdo BsbsfgMgdom

The correct answer is: 1532350 5ROl 30MSO PIMZS0IMHJIOM, M3JMSEOMW J9MHbserdo
BBsfgM9d0m, Mm39M5E0wo bdgdom, m39MsEH0MI s M3GMSG0W-LsMYEmbEM 39MmLMbsols
d9¢9ymdobgdom

50 ) 35Q090YE05, 0349 565 bddoml bgerddm3s69w0, 3065 WSSMZIOGOHMU bsddom

5QOW0?
(8mbero 15 3 3) s06R0Y

9600:
a. 0sbH, M gl F0MOMYdIY0s 456(gldo ,,3o 390 FoMOMYdYdO”
b. 565, 306150050 HMZHW YOO 555 1539 OYOI ™

€. QOdb, Yy39ms 899mbzg35d0

The correct answer is: ©05b, yzgas 89dmbgggzsdo

51 ) G5 99000bz93933d0 56 IomMbM3z9ds dM0Y5YOOL Lodw)domBy 5390 I MO
L53)Tom 5EPOWDY 25635MMEgd0m? (Bmbero 15 35.) s0MBog 9PHmo:

a. 3mgdgo Haligdom 56 5MHOL Fomzsobfobgdwero

b. ®mgLsg 9095 999309390 BsdMdom 500l IMIBoGds S3Mgm39 bgab-bg s Lagb-bg
3185mdoLsls



The correct answer is: ©Mm@©9LOE 955 93009090 15dYFom 50Ol FMIBIYdS 53039 Lggb-bY
5 b3ab-bg 37Fomdobsl

52 ) B3t 50 BY 0MH0RSOL sd3900LL, 53900 O(YOOL OIYdOL LOLHMOOLS s
35030l 56 5OBYOMOOL OLOAGIOEFJOMWOE M9BT0FI3MMdOM byerom gbgds 03 EYBYSIE M

Bofoargdls, HMIgdbgs3 3MBLEHMMIE0Io FglirHeEgds 5dEg3L S0l LodmsegdsLs,
994365909030, Lo 35035 SGMOU ... (IMbero 15 36) s0M®R0g gPm0:

a. 110 33-%9 bogargdo

b. 10 33 s bs3engdo

c. 35 33 o bo3zegdo
The correct answer is: 35 33 5 653900

53 ) 3090090 BsLoEMYdI0 M39M5(30930, HMIEO03 LIbs FobsbmM309w ™l 5339005
153 o0 5EY0WDHBY 533900LL ... (Bgbero 15 36;) s0MmBoY 9HMO:

a. 8959m{amL 30500 d93500396cmdoL GgLsdsdolMmds 2565930 96 456350 gdsdo
90000906, L5335¢0T03530M dM{dMdgdoL dobgz0m

b. B59EsOML 0bLEGOMIGo70 DR M3gMoE0Y 39MHLMbels
c. 3mgd90 Hglgdolb dgbsdsdolo, d9gogLmls As6Fglio

The correct answer is: 995d{0mb 0G0g5000L 9995039bemdol Fglsdsdolimds 3s6(gldo sb
3963962990580 J0M00GIIM5b, 115335¢053035:30M BMdmdgdol dobgz00m

54 ) ®3go b5dMFoMmgdO0 0M3EYds d5030L J398 Fglolitryegdger sdMTomgds? (mbero 2. 3. 36)

506B0g 9MHmOo:

a. 1531985900, HGMI9gd03 LOWEYdS dsd30L 3938 Igmg YbYSBG bsfowndby MBmswwm
dgbgdom

b. 1534985900, HMIgd03 LEOWWYdS dsd30L 3938 Igmg YbYEM bsfowgdBg Ggbgdols
3960909 96 969 BHM0 b5{owgd0sb ld390bg Jme Jsbdow by

The correct answer is: 15399950900, G®MIGOOE LOWW YIS d5d30L 390 gz YbYSAGHSE
Bofoargdbyg ¢dmswme dgbgdom

55 ) 396(9b00> 39domdolisl, 306 b howgEsmMl JoBBbMdM0Z30 0BLEHM™MJES:10 dOOYSIL
Lodw9dsml 39gdbmermyom®o dbscol Iglobgd? (dmbero 15 311.) so®Bog ghomo:



a. D90a™dds> M3gEMoGH0ds 3060Td

b. 96(gLols o 29635MMgdol 2509(3990s; Lodwgdomls 8fomBmMgdgEds (Bgm3oyMga); Loddomls
b9wddm3zs69as;

c. 8/ 996gx 9™
d. 8/3 §29y3563ds 0b50bg®Is

The correct answer is: 356(9glolo 5 2o635MEqdoL 259(39ds; Lodwdoml IFoerTMYdYEDs
(89035¢0g9698); Lddoml bgerddmzsbgards; Esddz9dds

56 ) 296(9Lol ©589b 93H9I3sMT0 FMETIdS dM0RSOL sd39d0s LsdMFomby, MMEILSE3
153 oMl 3HoMmMYOI0 0053B90L sdd39d0L FM35¢JMdYOL ... (Imbero 15 3 15.) s0MHhog gMmo:

a. ™M 939938305630
b. 960 93B3 sM3do

The correct answer is: 900 93Hg3wsMdo

57 ) 9909905 0779 565 5MLgdeo {olindoo 39m35¢Ygw69a 9950o3LMmb FGMZOWYMHYMdS
b3 LodMJoml Fglieegdsl? (Imbaro 16 31) so0MHhog gMmo:

a. obYI39005 FbMEPME 2obFgLoL 4593930l bgdsGNz0,
b. 536doE0s
C. Oosb

The correct answer is: 5360ds0s

58 ) 5930090 ™dol 900b393580 (L5wYToM 5EAO0W0IH PMMYBOM 4513eOLL) ZoU 56
593L MBgds dgEzoeml Boddosmms Afomdmgdgero (39m35yrMg)? (mbaro 16 32.) soMbog
960!

a. 39609Lob 2539959 MBRWGOsIMBO IMTo3l
b. 583390l

c. IV xama30l 9dmbg d60a5000U 936093l

d. Lodwdoml bgerddemgzsbgenls

The correct answer is: IV x3330L 3Jmbg 3G 05000 936090



59 ) ®s 990:bgz935d05 L3900 Lsdwdsmms Afo®mBMmgderol LsdMTom SO 0EL oLy,
MMYLSE 3M0Q505 9309000 56M56539gd HI L5335 0TB0ISEOM X FMBOM, S5MdgEgdl I Fomdsls?
(89bero 16 34.) 506B0g 9OHMO:

a. mm9LoE LEFMTomgdo LMHIEEIds 1000 3MEE5Y 9B MPIBIYIMYOTO 456350 gdom

b. 536d5¢a0s 439es d9dmbgzgzsdo

The correct answer is: ©m©qboE Lodw)domgdo LOIEEIds 1000 3MeFS3Y 9E9dEHOMPIBIYMGOTO
39639569000

60 ) 515339005 019 5O, dGYSEOL GO0 56 M5IEIB0TY F936M0L J0gM MHMYd0 LsdMTom
5Q300L OGH™MZ9d5? (39bero 16 35.) 5060y ghmo:

a. 69050 5MM0s Lddsmms AfomdMgdrol 6xdsOM300
b. 56 500390

The correct answer is: 5505050005 LYo s AFoMTMGdOL 6gdsOMZ0m

61 ) 1000 3¢ GHg 39G0 95030l 9egdBHOMPIB5YMYITO BoTMTom 5O DY oMRgbo
0605000U {9305 MoEb30 LEdMTomms AFoMIMgdEol Bsmzom wbws ogmb ... (Bxbero 16 35)
50MB0g 9MHmo:

a. 9M56539d 3
b. 565653090 2
C. 5M5653w9d 5

The correct answer is: 5056530090 2

62 ) ©5 30609330 993199050 Il x50l IJmbg 3H05OL 93609l 240-sb goligars s IdMHMBYd?
(8mbero 16 35) s0MBoy

9600:

a. 3bmEm Il x50l Moo 936m0L MEBgdom
b. Il x39530L dMH05OL {930M0L Mbbergdom
c. P9bgdom 5655 FoBLEBEZMHO

The correct answer is: 3bmm l X530 3G)0g500L 9300l Msbbergdoom



63 ) M5 306893d0 J99d05m Il ¥ 3130l IJmbg 3H0sOL F936MgdL 20-sb goligars s IOMHMBYdS?
(89bero 16 35) somBoy

960!
a. Il X290l 0M0500L 9300l Msbbergdom
b. Polgdom 565 4obLBEZHO

€. 993dGHMM650YMJIOL 9OHNI30MHMZ364900 IMZo0gMYdOL WRWGdOL dJmbg oMol
5bbergdom

The correct answer is: 909d3OM65YMGOOL gOHN30MOM36WO IMZHE0gMHYdOL MBEgdol dJmbg
3060b 0sbbergdom

64 ) 999050 0749 565 LoD MHMYdO® ol dMYsOL 93090l SOMHBYdOL
399099 3785000l sfigqds? (dmbero 16 35) s0MB0Yg 9HMO:

a. 56 dgmdEosm
b. 99050 Lodwgdsmms AHocmBmgderol bydsmmM30L yotgdy
¢. 999990050 Fbmerm© BodMdomms AFoMIMgdEol bgdsdmz0m

The correct answer is: 99de050 FbemE BsFMTomms IFoMIMgdEol bgdsG g0,

65 ) ®39o bFMFomgdO 0MZEYds 35030l J390 FgloliBrgdge sdMTomgds? (mbero 2. 3. 36)
506B0g 9MHmOo:

a. 1531935 gd0, HGMId0 LOWEYdS d5d30L 3938 Igmg YbYSEIM0BsFowgd0L
5b53390Dg sbem dsbdoenbyg

b. 1534985900, HMId03 LEOWWYdS ds030L 3938 Igmg3 YbYEE bsfowgdBg Ggbgdols
3960909 96 969 BHM0 b5{owg00sb l390Dg Jme Jsbdow by

The correct answer is: 1539935900, GMIYd03 LOWYW YIS d5030L 3938 Igmny
0969583 500b65§0g30sb slivdz9dbg sHenm dsbdoeby

66 ) 30100009 M5 VMBOLJ0YdYdO MBS A5BHIMEIL MBHf-0L oML39g30L Fgdmbg935d0, b Oligmo
bbgs 9609993505 259Mm39bol MM, HMIGE0E LagMmbgl 89w9ddbol dmdmdsgzqgdL (8xbero 16 36)
50Mb0g 9Mmo:

a. 1AM FomMs [oMmBMYdS AMANEYOS IMM3)3900L SIMBHZOOLS S WT5HJB0MO OBLEHMWJE S0
Bo@omgdols 9999

b. LsdM oo [omMgds 3MIG YD, 356Hgldo Fqlisdsdolio Bsbsfgeol gobbm®mEogwrgdols 8999y



c. Loddomgdol Jgbmengds Fygds, dMOYSS YodMYs3m LodwYdom 5P 0D, Loddomms
90om3m9gdgenls Bodmg®mmdg3s 2ob6fglo

The correct answer is: 15329d5m9d0L TguHYNGdS FY 90, dOOYSS 259MYs300 BT Tom SEYOMOIH,
Lodwdomms Afocmdmgdganl Bodmgmmdg3s 2o6fglo

67 ) 1000 30¢@b B99m0d 96509830, 909dGHOMLOYMMIOLS s J3gLoyM9gddo 30l
5930 MBEGdS BM0R50S 39050Y356mL 9M00 b dsm SEPO0W0ESE IgmMgHg? (dmbero 17 31)
506B0g 9MHmo:

a. 96™3060M36vW0 IMZ90gMHYdOL MBgdoL dJmbg 3oML

b. 599390 529039 LodMJomb bgerddwgsbgels 56 3FoMTMGdGEL g oBHgliols 35939935 gls Do
Q935,39 390 J00mMYdqdoL” LBGMOJMETo BsbsfgHom

€. 36565390 IV x3530L 3Jmbg 3M0g500L §9360190L 0 ©sdd3900 56 GOl sb0TbYo

The correct answer is: 5393900 53Mgm39 LEFToml bgerddm3zs69wls 56 AFoMIMYdGL 0¢) 2obfgliols
29939035 g 3507 QSIZOWY ,,(39¢3J)0 J00YOYOOL” LBMOJMET0 hsbsfgHom

68 ) 1000 3¢ @b Bgdmo J3gLoIMgd0L JE9dEOMMPIBRMYOT0 FMTomdol, Gro
d9000b3935905 153930 LsFMTomms bgedd®3569wds oo0Y35BML dMOYSS JMHO L dom
5Q300sb dgmegbg? (3bero 17 31) soMBog gOmo:

a. 09 9B 0MOMYOME0S PobFglol LGH®oJmbIo ,,35w 3999w BoPOMYdBO”
b. 536d5Em0s

c. 0¥9 3ol bgedd3569e0 0053193 496HgLOL 259(39d0L B3 gMBSL
d. P9bgdom bgdssmmMM0s y3ges 99dmbgzggzsdo

The correct answer is: 0¢) gl 3000019005 256(gboL LEGH®oJmbdo ,,35w 3979w JoM0YdHO”

69 ) 296(9L0olL M589b g2 B350 BMMIEYOS BBZS BT Tom 5EHOWDBY 25093565 obfgliols
89-3 3bGowdo, 33900l J0ge M39MSGHOM 56 M39MSGH0NW-LsMYIMBEM 3gMLMbseols
390500396 md06? (dbero 17 3 2) soMbog ghoo:

a. 3obfgliol mEM03g Hgdds®do
b. 56{gLol Ibmemmo gMo 9aHgddwsmdo
The correct answer is: 356{(glol m6039 abgd3wsedo



70 ) L5dw9dsm O 456z MdsTo 9396930l ML, 3oL »bs 0bsbgdmegls
L5 domUl IGoMTIMYOEOL, 4o6(glol gaBHgddwscmo? (Imbero 18 31) s0mBog gMmo:

a. 593390096

b. 96(gLob 259399096

c. m396530v90 39MHLMbomsb
d. Lodwdomls 3GoMTMYdG b

The correct answer is: Lod-)dsmb IHoOIMYdG M6

71 ) 30b 5J3L ©8w9gds L3 Fom EEOL 6353w Mdsdo dgliggbgdol 989y oIzl
060505 LodMJome? (3 18 31) s0mB0Y gPO:

a. dd390L
b. 96(gLol 259390l
c. Lodwdoml AGoMTMGdL (FgongoeymEqls)

The correct answer is: Lo32)domb 3HoMIMYdGL (Igo3z5¢gmEL)

72) 54300 0719 565 3M050L §9360190L MBEgds, 991396900l 9999 Lodwydom S0l
dMHBbHBIH6 LMol AFoMTMgdoL (890350yMHOL) A56989? (dmbero 18 31) so6Bog gPHmo:
a. osb

b. 55



The correct answer is:

NON

73 ) 909dAHOMBsA0M90T0 5EA0MIG030 M3gMEH0IE0 39MHLMbscom 30U Mbos
Bo5ds®MML bodMToml IFoMTmgdgEds 496Hglo Lsdwdsm EEOL EsTMOZMYOILMD Ws353d0MYdM
991396900 OML? (FMbero 18 32) s0MHbog gMmo:

a. 505M90L 50bOLE O30 -39db03wE 39MLMBoEL

b. ©53d390l, beenm dolio sOymabol d90mbggzsd0 46(glo Mbs oEM3ML sdobom30L godmymaogm
530 bBY, FoQ5e0md dMmgdgo 396(glgdol Lodswmswrgdo
c. ®Bgds B3 domb AfomBMgdgels

The correct answer is: 533390, beagoem dolio sOymRbol d9dmbggzsdo gobfiglio «bws a@mgmb
530Lsm30L 2odMYMBOEn S YOEDBY, Fo450Ms© dmgdgo gobHialindol bsdowswgdo

74 ) 65 99000b393500 5J3L M3egds Lodwgdsml 3ommMgdgwl so@Mmaml 4sbHglo bsdmdsm
©OOL EIM30MgdLMD 3930060 d gliggbgdol M™? (Fmbero 18 32) s0MmBog 9Hmo:

a. 999dGHMM650YMYOT0 FF5dOLLL SYOWMBO0Z0 MM GO 39MOLMBIEOL goM9Ty
b. 9¢9dEHOHM659M90T0 FomdOLL, SYPOWIMIM0Z0 M3GMOEH0ME0 39MLMbIEOm

c. P9bgdom 530 E0s

The correct answer is: 9009J&OMB5AMG3F0 FTomMdOLLL SAOWMBOOZ0 M3JMHIEBH0VICO
396OLMbsols 5609389

75 ) 300 5J3L 53 gds 3md9)36m ®gl dmdBogdme bsddsm 5P DY AobsbMOE0gw MU
©503905?
(8mbaro 18 33) soMboy

960!

a. P9LgdOM 9GS MY 5TIBEGH0MYOMEO

b. 588390l 53939 Loddomms bgddm3z569el s3930L BydsMM300m
c. 0005000l 69d0LdogH IV MLsgzmObMmgdol a0l djmby F936ml

The correct answer is: 539390l 53Mgm39 LTS by ddm3zsbgel s3Fz9d0L bgds@N30m

76 ) ©390 b53Fomgdo 0MZgds FowEr0g LodMTsmgds? (dxbero 2. 3. 30)

50Mb0g 9Mmo:



a. 33 s d9Bo
b. 58 s dgo

c. 708 s 39@0
d. 23 s d9@o

The correct answer is: 5 3 s 9930

77 ) 30L 543U MBEgds 3md)36m ®gl dmTBogdmeEe bsFTom SEHO0W DY AsbsbMOEF0g MU
5339052
(89bero 18 33) somBoy

96»o:
a. 360500 BxBOLIOYM IV MLsRONbMYOOL X yMBoL IJmbg H936L

b. bLydmdoml IGoMTIMYdIEL (Fgm35YMMgl) sdd3900L BxdOMMZ0m M Tols Gb g39¢gds FBHgLOL
“39e 39990 300093900l bBMOdmbdo BsbsHg@oom

c. f9LYd0 5Mvs M58 96E0MYdMWO

The correct answer is: Lod-)domb IHoOIMYGdYL (Igo3z5¢0gmEgL) ITZ9d0L BydsBMZ0m vy dobs g
939¢09d5 356(9L0OL “(35¢ 399910 FoMOMGOGOOL" bBMOoJmbdo RsbsfigMoom

78 ) 39690l HMIger gabgd3esedo BmMmIYOs 46dgMMHIO0MNO T390 FobbMOEF0gGdMEO
Bo39domms bgerddmas69eols 56 LsdmBomms 3Fo0dMgdgwol (Fgmazscrymemols) dog®? (3mbero 18 34)
506bB0g 9MHmo:

a. 039 9359936 do
b. LsdMFomms Bfo®mBMYdgol (Agm350yMol) gabgddws®ado

The correct answer is: Lod2)domms IHoMMYdGoL (Fgm35wyr©ol) 93B9ga3Es®mdo

79 ) ©580 b MHIMbgl Lsdmdomms dFsedmgdgwo (Agm3symeg) Igmeg ML
335mdoL 2obsbargdolsls? (3bero 18 34) soMbBog gbmo:

a. YO0 53058900l Lo0TIE MBSO 5MYM3g “YbS M(IMBEIL, MMI IEHMZYOO
3Q535(%900, @MBOIB0, 5IIBO JEZWILO ©d bgEwdgbdILos

b. 9605 s™{jdmbgli ™0l 0349 565 Moo sbowo gsbfiglo
c. P9Lgdom 56 5GIOL QoBLEBVZOWMO



The correct answer is:

5900 ©530{90900L B0TYEMBST0 S3MIMN39 wIbs sMFMbIL, HMI
QIGMFPILO 3E535HJO0, QOBYOYOO, SXTIOO JEZLILO ©d byerdybgdgeos

80 ) 30vm0mgom b5FMTomms IFoMTIMGdol J0ge, Ldw)domls 0SB ITMHZ3MYOOL
399092 256LobmME0gWwgdgwo Mboldogdgdo ... . (Bxbero 19 31) soMHBog gHmo:

a. 399m0Yy356ml 0G0 O 295R3MmMIML 256(glol J9MHbseTo LsdMTomlb EP0sb0 HFMHZMIYOS

b. 259m0y356ml dGH0Q5s LHTMTom 5 PO0E0IL; IMbUBIL dM OOl JogM Y969dwo OMgdomMO
©MdIM900; Bs39E ML dtdwmdom 9wgdGMH™MIbsMOL 356M1900; 3oox3MEMTM 456(gldo LsdmTomls
3000560 53936905 bgerols Imfig®om

C. 29583MmMAML gobfigliols gmE®Bsdo Lsddoml Bo0sbo TN 30D

The correct answer is: 35900943560mU 30095005 153 5EAO0W0EH; BMbLBIL dGOYsEOL Foge

05949690000 EMHMYI0MO VMBIMOHGBO0; Bs3gEHML dradwrmdom gegGHMMIBIAIMOL 35M9d0;
239953mOHIML 456(9gld0 LsFMToml EP0sbo TMHZ3MYOS bgerol dmfgHom

81 ) 30L Mbs 9953YMI0bML LsFMTomos IFoMTMYGdEds BsdFoml 00O TN I3MYdOL
dgLobgd?
(8mbaro 19 32) somboy

9600:

a. 3d390L, bergwem dobo s6YmBbols F9dmbzgz590 gobfigliols 4sd39aL
b. 3/ 0005356 0b50bgMLs

€. D90p™a Mm39M5¢ 0 39MHLMbsel

The correct answer is: 539390, beagoem dobio sOYmBRBOL dgdmbggzsdo gobfiglols 4sdi39dL

82 ) 079 L3l 065 TM3MYOOL F9d9 A9BHILOL goso3gds 35dbgargdvyenos, d580b
05833900 69356300 LFMToMms IFoMTMYdYL (Fgm3zseyIMgl) 9mAE0s OSOGHMZMUY
396%9b0 3006, 08 306:>MB00 BHMA ... (BMbo 19 3 2) soMBog ghmo:

a. 96530569l 30 LYo OLS VB BsBIOMY FobFglio
b. 5659330069L 15 L3 Fot EEWOLS MBS BssdIOMU A9BHgLO
€. 96530569l Igm©g Lodw)dom OLS YBEs BosdIMMUL 2o6fglo

The correct answer is: 50530569l 9m6g Lo EOOLS MBS Bs5BIOMY QobFglio



)
83 MOMIge 799065¢g0d0 b 2oBMOIIL A56(gloms s 96390 Mgd0m sTMTomgdol

580536905 ©53d3930L J0ge LFYTot SHOWOL PIMZ9E0YMHYOOL 89dgy? (IMbero 19 34)
50MB0g 9OH™O:

a. 999m39-om3509MHgd0LS s IBIJEHJOOL SMOEb3OL JMOBsedo

b. 8dbdom9d9wms 39bs3boYdOL MgoLEBHMSE00L JMboedo

c. 3960gboms o 396350 gdom GgLlaliMvengdgeo bsdwydsmgdols sMOEb30L J9Mbosedo o
™39M5@0E gm@boserdo

The correct answer is: 356(9lboms s 4963502930 FgLoliMHegdgeo b5dTomgdol SEMOiEbaol
OB do s M3geoGHoe J9MHbsedo

84 ) ®5 3063900 JglMgdol 999 s glsdegdgEo JErgdGMHMbIYIMOL PsOMIs
153 Foml D065 T30 gd0L d9dgy? (AMbero 20 3 1) soMBog gHmo:

a. L53w9d5m 5RO OL BMIBOEYOILS O sd3900L bxdMM30L 4593930l 96 Jobo d9d33w w0
3060L Msbbdmdol Jomqdol 89992

b. 3ol 999099, O3 59993690l LHTMToml s Bs3gEO3L dmdwrmdom gegd@HMMEIbssMOL
39690l

c. 9L 99099, O3 9336 9OL LHTMToml s IMbLBOL dMYSEOL B0 oYygbgdXIE
OHMYB0 OMOMEOHIOL

The correct answer is: 5532995 50O IMIHBOEYDILS S 593900l BYBMIMZ0L 583980l 56 Jobo
39933090 3060l 156bAMBdOL doMgdol 9939

85 ) Ls3doml 8005650 sTMH3MOOL 999, JYIBHOMPBYMOL FTomdsdo
Bo®r»35%9 690035 453909 ..... ? (IMbo 20 3 1) s06BRog 9hHMO:

a. 9ol 999099, ®53 F0gdeo 0dbgds 893Ygmd0bgds bsdmTomms yzgus dHocmdmgderols o

05333900L556, HMIgmsi 303990 3Jmbsc ImEgder gargdBHMmEsbsys®do bodwdsm
5300l IMIBoEYdOLS S 533900l bgdsMM3s

b. 9L 999099, M3 T39O LHTMToml s FMbLBOL dMIYSOL B0gH oYgbgdIE
OHMYO0 OMOMEOHIOL

c. 3ol 999099, O3 99993690l LHTMToml s Bs3gEO3L dmdurmdom gegd@MMmEsbowsMol
39690l 3oL 8990092, M3 300900 0g69ds FxEYmdobgds Lodwdomms gzgws

90om3Mmgdoly s ©383900L5396, HMBgwmsE 303g0vwo 3Jmbsm dmEgdmer

999 GHOMB5AMT0 LFMTom 500l IMIDBoYdIOLS s 93930l BYdsMMZS



The correct answer is:

86 ) J0momgm dmgdgo F9Lgdol Immbm3zbgdo, H®MIgErms Gglicryergdolsls sddzgdl

3965@0LM9MbGHM 39OLMbI0IL MBgds 5d3L BoBml 9ergdGHO™M©oboyseo, Loddom

50300l dmdBoYdsLS S s33905DY bgdMMZ0L 459399 30OHMB Tgmsbbdgdol go6gdg? (dbero

20 3 3) s06Bog 9Mmo:

a. f9LYdoo M55 Fomzseolfobgdyero

b. o) 3sL Jo398e00 593L 5ToL MFBEGdS 2obfiglol LGHEMmodmbdo ,,3ow399wo Jomomydsbo”
Bobsfgtoo

The correct answer is: 0¥) 3sb do39dw90 593U 530l MBEgds 456(gLOL LBMOodmbdo ,,35w 390
30000090560” BsbsfgHom

87 ) 356356029935 560l ©935¢g0s Lsdw)domms [o®TmMgdsBy, HMIOM3 FbLsBLZMHEOs...
(8mbero 2. 3. 6) s06Bog

96»o:

a. BsdMTomlb Jobos®MLO, 5RO, PO, MLHROMNbMIOOL MbOLdoJdYdO (077) bsFoMMs) S 306900,
HMIgOLS3 9390050 Bo00 TGuM¥IENdS

b. L doml JgaLEGdGE? 30O Bo3MmbEsJGH™ bmdMgdo

The correct answer is: 15329350l Jobo5MLO, YOO, O™, MLOBONHBMYOOL MbOLdogdYdO (v
U5F0MM5) S 300900, HMIWIILOE 935¢J0s0 FomM0o LB GdS

88 ) M5 1B 9olOYEMb M3gME0MEds 3gMLMbods, H9dmbEdo gog3s60w0 IbsysMOL
53500990 B6M30L5L (B3 Tomms BCI065 EOTMS36MYDTY), HMEIBS DOOYHS 56
003Ymg3905 bddom 50 DY? (IMbero 20 3 4) s0Mbog 9Hmo:

a. 3953 94030b6mb 50d060LEBHGMS309w-39d60396 3gOLMBswl, HgdmbEdo goyzsbowo
5650560 B30l dglobgd

b. 39boog Ml 5059056900, MMIWGdOE Fo9BONBOWGdGD Boddoml 8HoMmBmgdgels, GmI
56502560 B 0s 5 LHFMToMmS 2obsbEgds 530 om0

The correct answer is: 3565c053mb 5058056900, HMAGd0E 299BOML0EYd9E bsdmdomls
3ho3mgdgl, O™ 65N BOM0s @S B5FMToMmS FbsbEYGds 53BsEE0s

89 65 99000b393500 543L MO0yl 96 ©sdd390L MgdmbETo goyzsbowo

999 GHOMOBAM0L 56 9engd@OMmIMFYmdowmdol BsGm30L Mgergds? (dmbero 20 3 4.)
50Mb0g 9Mmo:



)
a. 000500l d9U396900L O™ Ldw)dom O 56Tz Mdsdo

b. 96(9Lob 2593990 30O 96350y gdom
€. 53560 99dmnbgg3zsdo

The correct answer is: 53560v)e 99dmnbgg35d0

90 ) 93990 B3MM300EIb HMIgero wmbolidogds 30932933690 39dbolzme wmbolidogdsls?
(89bero 21 3 5.) s06Bog

96»0o:

a. 1-B5@5M©IL 59309390 2odmM™M3900
b. B9s3b90390Md5 3 Fstmdol O

c. 3960gLob 96 gob3o6megdol go3gds

The correct answer is: 1-65356M©9L 5993009390 2odMOH™M3900

91 ) 43990 B3MM300Esb HMIgeo wmbolidogds 30932933690 3H9dbo3zme wmbolidogdsls?
(8mbero 21 3 d.) s0MBoy

96»o:
a. 6905MM30L 453995 LETMTom 5 YOOl IMIDBEYILS O HTZ39d5DY
b. Ls3M ol MLOBODBME TGO Gd5BHY 35LIbolidygdge JoMHMs IH0TZ6s

¢. 30090 0gbsls BMBd0, MHMIGo3 5033900L B53MIMEHSIGOM 535M5EIMOL Fx3™MB00 56
0530505350 BOINZL

The correct answer is: 3009099 0gbsb B0Igd0, MMIGE0E 50339V B53MINEBSFOM 5356(5EHIMOL
39300™300 96 M530LM6350 BsOMZoLs

92 ) 4399m0 Bsdmm30e0@sb HMIgEo mbolidogds 309329036908 39db032M wmbolidogdsls?
(8mbero 21 3 g.) s06R0Y

9600:

a. 193MIMAHOGOM 535M5GIMOL by 53dM53938L5 s OLEHIBEFOMO BoMHMZOL PolvMdgdbY
39900300MU 593035530 35353 JOO



b. 6305MM30L 253985 LETMToM 50Ol IMIBOIIBS S HTZ3905DY
c. bbgo LsdMom 50 BY gooyzsbs

The correct answer is: 15335300 535M5GHIMHOL by 53dM5390L5 s OLEIBE0MMO sBN30l
3oLO0Yd9OBY 490030 ML 533MTSSZ0 3¢535(3HJOO

93 ) 4399 B3MM300EIb HMIgero wmbolidogds 309329336905 39dbolzme wmbolidogdsls?
(89bero 21 3 ©.)

506B0g 9MHmo:

a. 999m{(dqls d5030L SMMOLYOdMDS LT0FIOYE ©9byAEE bsfowgdby

b. Bod o 50Ol IMIBHYOS O T390

c. 3M850m00L MM dgliggbgdols s LsdMTomb 3MZMYGOIOL JoRMMTGDS

The correct answer is: 999m{jd9L 5030l 5MH>OBYDMOS IBETOIdIE bR EE bsforgdbyg

94 ) 439900 Bs3MmM300Esb HMIgeo wmbolidogds 30932933690 39dbo3me wmbolidogdsls?
(89bero 21 3 g.) s0MBoy

96»o:
a. 9o9b90390Mds 3doMmd0L 30dEObIMGMIOL MM

b. 3m9Hgmb ©sdo(gds, (RsoMHDML s3530(909ew0 6930, beagnm BosE BEIEFOMbIIMHO T0[gds
56 5oL Y96l FoIBEVBO 0(9dgd0 )

c. bYFMIoM 50Ol IMIBYdS O T39S

The correct answer is: 3mgfyml ©sd0fgds, (BooMmnmb ©ssd0fgd9wo sbgd0, bergm Lo
BGO30MbOE MO ©E5T0fgds 56 5MHOL Y9bIL FoILIEHBO sT0f9d9d0 )

95 ) 43990 BsdMmM300@sb HMIgEo mbolidogds 309329036905 39d603M wmbolidogdsls?
(8mbaro 21 3 3.) s0Mboy

9600:

a. D9s3bg39emds 39dsmdols I0d0bstgmdol oMmls
b. 96{gLob 253995

€. 3990300ML 30d0mMYOYE0 3e535G0 "©sd0fjgdmeos"

The correct answer is: 35800300ML 308000009390 3¢053530 "©sd0fgdwos"



96 J399Mm Bs3MM300Esb HMIgeo embolidogds 09329336905 39dbo3me wmbolidogdsls?
(89bero 21 3 3.) s06Boy

960!

a. 396356 gd0lL 453909

b. 3580030 ML 308000109090 3e535@0 "sd0{gdEos"
c. 3sbybolidygdgero 3060900l sbodgzbos

The correct answer is: 35900300ML 308000009390 3¢053530 "©30fj9dw)os"

97 ) 43990 Bs3mm3w0mosb HmIgero wmbolidogds 809329336905 39dbolzme wmbolidogdsls?
(8mbero 21 3 ».)

50MB0g 9Mmo:

a. 399m0300MU 458553MMboWwgdg0 3¢05353gd0

b. LodM ol MLOBOPHBME TGO gdBY 3obbolidygdgero 306 gdol sbodgzbs
c. 39639Mgd0l 453909

The correct answer is: 4590103000 MUL 353583OMbOWYOIE0 3¢0535(3))d0

98 ) 3010mgo MTYE0 35Lvbo ABLIBOZMEZL BHYMBOBL ,,9bydGHM0 bsfowro” (mbero 2. 3. 13)
506B0g 9MHmo:
a. 9e9dGHOMEsb5AM0L Bsfjowo, G®MIgeog bm®mdswr® 306HMddT0 08ymBgds dsd30l J39d

b. 9e099dGHOM©bsYsMOL Bofoero, HmIgwroE be®dswrmE 306HMdGdT0 56 5oL dsd30L 393, BopaEsd
5356090 Jgz090L 998bz935d0 Gg0degds 508mBbgl dsd30L 393

The correct answer is: 9009JGOMB5AM0L bsfogo, HmIgmog bem®dsw® 30639030 0dgmggds
dsd30L J399

99 ) 4399mm BsIMM3 0oL MHMIgEo Mmbolidogds 309329036905 39db03M wmbolidogdsls?
(8mbero 21 3 ®.)

506B0g 9MHmo:

a. 993090 MdOl §99b393580 J90tm00MdML LsFMTom SO0 56 dsd30L 9398 sMBRybowo
0969533500 B0 gdo s VMBdMMHYdO



The correct answer is:
b. 6g0sMM30L 453995 LHTMTom 50Ol IMIDBIILS O HIZ39d5DY

c. 39635Mgd0l 453909

93090 Mmd0L 993nb3935d0 d9dm0MmdML bHFMTom SEHOWO 56 dsd30L J39d
5MB9600 b 5TBHM0 Bsfogdo s MdMEIdO

100 ) 096959356 b5HoegdBg dsd30L Imblbom Lodwmdsm 500l dmdBoEIdoLLl b
390Mm0MHmNMUL:
(8mbero 22 3 1) s06BoY

960!

a. 962993900 bsfogdo, HMIWgdBY5 0foMIMgdL 3Tomds; 999MmwMMdI30 ©YbYEIM0
Bsfowgdo, H®MmBwgdmsbsi G9Lodegdgw0s 5Qsd0sbms, 89dsb0BddOLS s BH30MMsdfg Bobdsbgdols
905bMgds, ILEIZ90DY sberm dsbdow by

b. Bo@®oblgm®moGHmM™ J39L0AwM0, OG0B3 0fsMIMgdL Fwgdomdo
€. 999mMd0o ©9basdEscmo bsfowrgdo

The correct answer is: 969533500 b5{owgd0, OMIgdBY5 0fsGIMgdL Fw9dsmds; 90mmMMdI30
9625935600 Bsfowqdo, HMmIgdmsbsg 9gladergdgeos 5@sdosboms, 39dsboBdgdols s BH30MmmsdfY
056956900l dosbemgds, slvdzgdbyg sbenm dsbdoebyg

101 ) Gmdgero J398mo Bs8mm3wowo vmbolidogdgdo MHBOMB3gwymaRl FMHgool bowrvya Fyzg@ol?
(8mbero 22 3 2) s06Bog

960!

a. A300mM30L 5IMIMMZ99d0L A5TMOMZS, MIGEms 3MBLEMWJ305d0 sOLYdMEO BTOSMGOO
BOHMB39wYmRBL 53EMBoGWE BsOIOZHL

b. Boan39g00b 96 259396900l Roblibs, 9800839930l godmMmM3s, 339¢gd0l Imblbs
c. BEASEOMbOX MO EsTOfgdol dmblibo

The correct answer is: Loen399g00L 96 259EHMOOL Boblby, 458000339 gd0L QodmMH™M3s, 33391 9d0L
dmblbo

102 ) 5 9gd909d9305 goblobmM309wgdgwo 15dw9dscm sEAO0OL IMTboEIdOLSL 5SFMIGMZYEgdOL,
390000839 9d0L s bgeoom BsMm30l IJmbg oBHZ0MM30L sTMIMM39gdOL QodMOM30L J909Y?
(8mbero 22 3 3) s0mBog

9600:



a. (30090905 30DMOEMEIO EOMZI0gMHY30m jdbgds 08590, HMA 50bodbmeo
3356153900 659003005 25TMOMIE05. b gds 08580, HMA F5dbE0MYdI0 BOYIMYOO 56
sMlgdMd96

b. dbMEME 259mb53¢00l 99dmb3z93590 L3ToMOLOS IMJdgEIdgdOL QBbMEMEF0gEgds
30D95EYMHO QIMZIT0IMGOOL 2569dY



The correct answer is:

3309005 30DOIMEIO EOMZIW0IMHYI0m M(jdMbads 08530, HMI
5060360 535653H900 63830 A9FNOMYY0S. M[AMDgds 03580, MHmA 35dbEH0Mmgdgwo
BOMOIMYO0 56 SOBGOMOID

103 ) dcmgdgo Hgbgdom, mombmggds M 565 593605530 3e535EJOOL 458t 30009ds LT Tom

50300l MBI 25TMOME 1000 30103539 Je9JBHOHMEbIYMGOT0
153 omgdOL BoLOEHMYOWS? (FMbero 23 3 2) s0MBog 9HmO:

a. 5 dmombM3z9ds
b. 3m0mbM39d5 5©A0MIM030 306009306 25dmIE0batg
c. 3mombmz9ds yzgws d9dmbggzsdo

The correct answer is: 3mombmgqds yzgws dgdombggzsdo

104 ) dcmgdgo0 Hgbgdom 693NN bodw)dsm 50Ol JMIBIEIOOLIMZ0L L@ ggdols
Boblibo, 3009900 O 259BoMgdol ImbLbY, Mm39Mo@0mEo 39MHLMBs Ol dgmazswymMgmdom,
395LOeml 89995395 LoMgadMbEM 39OLMBs Ol 8935090 MB0EIB MUsBODBMGIOL 5015653 gd . . .
(8mbero 23 3 3) s0MHBog gPmo:

a. lll xgamzo0
b. IV X390,
c. VI xaaom

d. Vxam30m

The correct answer is: lll xazom

105 ) HMIgero dgomEomss dgladergdgero, 1000 3@ sdo dsd30L
©3509M900L5mM30L J0vfiz™dgeo 30m639gd@Jool gmby bo3mINEO30M 535653 gdOL
3900MOHMMo dyMIsMgMds obolyBz™gds...? (IMbero 23 3 4) soMbog gHmo:

a. 30D95WYMHO IMZIT0JIOHJOO)
b. bgarols dgbgdom

c. 350 98 F9M9dDYg 96 58535 Lo 3HggdDby, BoYbgdBY 96 53 LO3MIMESFOM 535M5EJO0ID 33930l
9080900 dmHgmdomdgdol dmdF MHqdHg dsd30L 56 sGBGdMdOL 9dm{jdgdom

950 9B FgM90DY 96 godsgoe Loen3HggdbHY, Logbgdby 96 53 LozmAMEHsGOM
3356153900056 33900l 3080930 dMfYMdOMdYdOL dMmdF)MHgdDYg dsd30L 56 sMLYdMdOL dgdmfdgdom



106 ) Hmdgeo 3¢5353900 9965 5dM030ML 00 odm0dz9wgdoL, I5(35¢39390w9d0LS S
5330030 5IMIMM39wgdoL 5ddM9390DY, HMTGEMS BsOMZOMS3 FgLodergdgEos
15350 5ER0HBY dsd30L Fofimgds? (IMmbaro 24 3 1) 506BoYg 9OHMO:

a. 96 3550Mm! 31Fomdl bogrbo
b. bgd! dsdgz0s
c. 36 Bs®omm! ddsmdl boserbo

The correct answer is: 56 BsOomm! 3domdls boerbo

107 ) 03900 3en5353900 Mbs 35dm030mb Bs335wmgqdby, Mmdgaros 39&o3L
3°00038399d0b 369305¢ 6 5d65390Dg 35960L dofmgdsl? (Imbero 24 3 1) s0MHhog 9OHMO:

a. bgd! dsdgss
b. 56 goblbso! IMJomdl bogwbo
c. 56 Bs®omm! 3domdl boerbo

The correct answer is: 56 g5bLbso! 37 FomdL bogobo

108 ) ©53M30YOMI0S M¥) 563, 1o359MM S 153509 M BB 53dM5390DY 450M3I0YOIEO
35353 900L M5 g6Mds, bsHbg ImdMTogzg dG0YIOOL Mom©IbMdsHY? (Imbero 24 3 2)
506bB0g 9MHmo:

a. 35353900L M5EYbMds FggLsdsdgds ImdTogzg dG0YIWIOOL M5MPIBMISL
b. 8098539 30050 930L MroMmIbMdOL J0IHYO350 LB {9BMO30ML GOHMO 353530
C. 56 560l IMI0YOI0, 3¢0535BJOOL Mo IBMdS MBbs 0yml 565653 gd Lsdobs

The correct answer is: 3399539 3(0350930L MoMY6MOdOL F0IHbg35© MBS J9FM030ML 9HMO
353530

109 ) F53mbsm035¢0sb B0y 349693900, HMIGd03 2oblsbBWIMs396 GH9M0bL
»99dBHOME65YM0” (3gbero 2. 3.17)

506B0g 9MHmo:

a. 390565)0909e0 Imfiymdowmdgdol, §3gLoym@gdol s Js0o d9d596Hm9d9w0
99dGHOME0 bsHgdol gHmMIOmds

b. 1539 3M83wgdlo, GMBgEoE IMo393L: FosMM39dL, dmfiymdowmdgdols
QOM35¢09M905L, BT 50Ol IMIBYdL S bbgs gdboze ImAlabwyemgdsls



The correct answer is:

C. 96963 965056M0L LobgMds, HMIol 60BMEgds Ggodergds 0yml gengd@®mmabgMyool
§o60mgds, 90D, 29399, 39BsFogds 56 ImbIotgds

The correct answer is: 959MM@65AMOL LobgMds, HMIOL IBOIBMEIgds TgodErgds 0ymls
9993 MgbgM00L Fo0rdmgds, 256Moddbs, 35053999, Fobsfowgds sb dmbdstgds

110 ) 309009 (3530 LTS GdJdO, BMIGEMS 250MYgbgds3 930w gdgEos 1000
3m@AL HB99M0 BsYIMGOT0 dsd30L F5B39690w00 Bgdsmdolsl. (Bbeno 25 3 2) s0MBoy
96»0o:

a. 099dBH®M0 320 boenohs

b. ©0gw9dBH©m03wo bgwmsmdsbo
c. 36 5ol LsFoMm

d. 59335930 boesdo

The correct answer is: 0099903290 bgwmosmdsbo

111 ) M0 goboboBmzmgds 35-110 33 dsd30L Jergd@B®MMmEsbsas®gdd0 dsd30L SMIOLYOMDS?
(89bero 25 3 1) so6Bog

96»o:

a. 96259356 bsfiorgdbg Bs0BME0Mgdgwo dEsby00 dgbgdolisl 653963 0sbmdol s 33s3Ibol
56 5MLgdMdOM

b. 330623060l 56 sGLYOdMdOM
€. 96 bgds ,,L53MBGHOMEM bsMOL” sbgds

The correct answer is: 9659356 b5{owqdHg Jo0DMEoMgdgeo dEsbaom dgbgdolsls
65390 300056m30L s 33537I60L 56 SOLYdIMdO

112 ) 30U 5943L 8390 9959mHoml dsd30l 5GoMlgdMmds 1000 3B Bowoeo
35030l 9e99GOMEIBAMGdT0? (IMbero 25 3 2) soMBog ghmo:



a. lll xmx30b 8Jmbg g6 mTo3l
b. Il x50l IJmbg m® 39ds3L, M3gME0Mo 56 M39MsEH0-bocgdmbEm 3gMlmbowosb
c. IV xama3ol 9dmbg 960y 8dszl, m396moGH0wero 96 m3g6mo@owe-Ladgdmb@m 39MHLmbsosb

The correct answer is: IV x990l 8Jmbg 96 38536, m39MH5GH0O 56 M39EM9EH0ME-Bo6gIMbEHMm
396LbMbsE0b

113 ) 30U 5943L »Rwgds 959mHoml dsd30l sGoMlgdMds 1000 30enEsd©
35030 9agdGOHMEsbsMdT0? (IMmbero 25 3 2) s0MmBoYg 9HMO:

a. lll x2m530L dJmbg g ImTo3l, Mm396M9EH0I0 b M3gME0ME-LoMgdmbEm 39MLMbswosb
b. Il xamx30L dJmbg Fbmemo mE 3/3s3L
c. Il X230l 3dmbg dbmerm ™6 dmdozl

The correct answer is: lll 39530l dJmbg 9O 39ds3L, M3gMHGH0I0 56 M3gMOEH0-boMgIMbEH ™
396LMbsE0IH

114 ) ©5L5339005 0¥ 5615 BMddgo Halgdol Msbsbds dsd30L LYgmbermdols 9gdmfjdgds
Bo@«®5d0 Liggdob go33¢g30m? (dmbero 25 3 3) soMHhog gMmo:

a. ©s15d39005, dsd30L b3g30seEO B5B3969d 0L JMmbeMmdol G9dmbgzgzsdo bolierol, fzodol
0M3Wwol EOML 08-80, 339-80 S 3B3-b GH030L oMM IBYPIMYODY s s3MgM39 Lgab-bY b.
©>73839890>

The correct answer is: 15339005, d5030L 13930500 5B3969d Ol MJmbermdols Igdmbggzsdo
Bolirob, {3080l M3zwol OML Md-d0, 338-00 s 3B3-U BHO30L R3MY0S IBsYIMIIBY s
5309039 LIab-bY

115 ) Hmam6 Mbs 999mfidgl dsd30L sMMIGdMBS LoghdOL 3MMHOBMEEHIWMMO
53000900l EGOML? (Bxmbero 25 3 6) s0M®B0Y gOxO:

a. 8999m{j090s bs o0fymls 1obermglio god@Es®0wsb
b. 999m{idq0s vbs ©s0fyml 30MHgLo dMTMEMGOIE0 459EHM0I6
C. 965 593 36009369 Mds

The correct answer is: 999m{jdq0s b5 0FYMUL L1bermglio god@Es®r0sb



116 ) HM MM 196 9dm{idgl dsd30L 5MMLGOdMDS Logbgdol Lbgowalibgs LodsmwgBy
053000900l GOML? (3xmbero 25 3 6) s0M®BoY gOxO:

a. 899m{j090s Mbs o0fiyml §399msb bgdmo
b. 565 5J3L 360369 mds
¢. 999m{j090s Mbs o0fiymlb Bgdmsb J390mm

The correct answer is: 999m{jdqds bs o0fiyml §399m@sb bgdmm

117 ) ©5b5939000 0¥ 565 50O 690G 1000 303539 GG ™Mb YMGdT0,
§obolifo® 999m(jagdmeo 3meEIGEHOOL 259mygbgds dodz0l s®5MLYdMdOL dqLlsdm{idgders? (dwmbero
2537)

506MB0g 9OH»O:

a. s1YI39005, IBMWME INs35M0 0bsObOOL bgdsGNz00
b. 5655 L3900

€. ob5I39000

The correct answer is: 5339005

118 ) 5 15395 Y0YB0MSS L3900 0O bgo@Mmo0s6 1000
3Mm 3537 9¢9dGHOM65PMG0T0 dod30L 5M3MLYdMdOL d9dm(dgds? (dbero
25 3 7) 506B0og 96mo:

a. ,,bo3MbGHOMEM” BsmBom
b. m®3mmls dsd30L 3oB3969dw0m, saMgmag Hobolifod 99mfidgdmwo 3mm@dg@ oo c.
35¢39BHMom

The correct answer is: M3 bs ds030L 3sB3969dom, 5369039 Hobsbiffot Fadmfdgdmwo
30@HYHO0”

119 ) 9900905 m¥) 565 IB3Z60L 253000905 535M5EOL 2o0MMmMNYo IEYMTSMYIMBOLS s dsd30L
365MLYdMOOL dgLobgd, 3035 BOMME0 3MGIYEHMOL B39bgd0l Jobgwzom? (3mbero 25 3 8)
50Mb0g 9Mmo:

a. 56 990dgds

b. 990degds



The correct answer is: 56 d90dggds

120 ) 39900 Bsdmm30e0@sb HMmIgEo 56 396939036935 2500510909 bsdwdsml? (dmbero 2. 3
49)

50MB0g 9OH™O:
a. dmEMEMmdoom 930609 LsMgImbEM s Ggdb03m0o dMALEBLYMGOOL bodw)dsmgdo

b. b5 dom, oMo MHglozMMBYdOL S sD0sDYIYOOL SLdEFOEIGOS®, HMBEYdTsE T9godegds
29800{30mb dMFymdoErmdgdols bm®mdoeMo 39)3smdol sMM3939

c. bLYFMom, MM LOMEEGdS 5sd0690Dg BHE93d0L godmd(j3930 96 K 96IMMgMdOLIMZ0L
153d0d0 BoJBHMMYOOL BgdmddggdoLogsb s©bs339mo©

The correct answer is: Im32)0md00 J306M9 LaMgdMbEHM S 3H9gb03M0 FMALobEM9dOL LsTMTomgdo

121 ) MO 5993009090 IHASIGHM Bofoergdbg sdofigdol sygbgds? (3 26 3 1)
50MB0g 9OHMO:

a. 35030l 5MMLYdMdOL 9dm{idgdolmsbogg

b. dsd30L 5M5MLGdMOOL F90m{dgdsd©g

c. 000500LsM30L JoHBEMIM 030 0BLEMWYJEo70L BoESMgdOL [Hob

The correct answer is: dsd30L 5®5MLgdMdOL Fgdm{dgdolmsbsegy

122 ) 30000900 0396530505 gl gdol 1sbd0dgzmmds ©gbgsd@ s bsfowgdbg
3905L53960 530fj9d0L YOOLLL. (Bbero 26 3 2) so®Bog ghmo:

a. 35030l 5M5MLYdMOOL dgdm{dgdolmsbegyg, osliv@sbo sdofgds xgM «bes JomgMmgls
096959356 bsfoemls, bemerm 8999 ©sdsd0(gdgee dmfigmdomdsls

b. 395B53960 530fgds X9 Mbs B0gOHNEIL -3530Hgdg FMHYMBOW MBS, brmerm
3900092, 35030l 5M5MLYdMBOL F98mdgdolmsbs3g b sdEs® Boffoerls

The correct answer is: 3505653560 530935 XM Mbs J0gMHMEIL 3530fgdgE FMFYMDdOEIMBLL,
begoem d99099, 350300 5GoMLgdmd0l 99dm{idgdoliosbsgg gbysd@ st bsfowls

123 ) dommomgo 0bbiE@dgb@gdo s o330L byTOEgdgdO0, HMIGdOEG MBS Podmoygbmls
396LMb5Eds 1000 3 H9dmo gergdBHMmmsbsys®9d30 goalis@sbo sdofigdols sgdoLsl. (dMbero
26 33)

50Mb0g 9Mmo:



a. 0BME0M9dMELsbYIMH0s60 0bLEGHM™MIEEO

b. ©09w9dBH®m030 Bgblsdgeo s bagrobs
€. 9655 BoFOMM I(3530 B5FY59dYOO

d. ©09w9dGH®M03290o bgemomdsbgdo s s0bmeoMmgdgmo d@sbys
The correct answer is: 0999303290 bgemsmdobgdo s sobmeoMgdgeo 9@ sbys

124 ) domomgm §gbgdol Inmbmzbgdo, HmIgErms Jgd¥engds s9930egdgeros 1000 3
D900 9e9dGHOMPIBAMGIT0 53093900l sEYOOLLL. (3mbaro 27 3 1) s0MmBog gBmo:

a. 0530905 MbBs ©9EMUL LTS FglolMMEGOEISE FoTMMIO 36OL YbYITESE
Boffoergdl gmo IbGOH

b. 0530905 1B ©59ML LTS glslMMEIGOEIS® FoTMMMNYIO YBBOL Y39 BsHol
96259356 bsfioargdl yggans Fb6H0B, LoobsE Tglsdwrgdgaros dsd30l IMfMYdS, FoMHE
Lodw9doml Boliv@oMgdes 35dmOmmeo 99930930 LoenEggdols, ®MIEgdHa LO3TMOLos OO

530{9d0b sg9bgds

The correct answer is: ©530{9d5 b ©9EML LTS FgLOlOMEIGOSE FoTMMNYO 36Ol
4395 BoHOL 9bdE M b5§owqdlL yz9ws FbM0IB, LEoIbsE TglsdegdgE0s dsd30lL dmfimgds,
23960005 BTNl BoLOEHIMIOESE 2oTMOYIC0 899360900 Lo E)gdoLY, HMIgd B3 LozToMOLOS
96000 ©530{jgool oygbgds

125 ) 5 89900b3939030 30mbMm390s 9325 mE b3 Fom SO DY T>EHJIOMNO
530{9d0b ©sygbgds? (Bmbero 27 3 2) s0mBog gMmo:

a. 399mOmMME Y6 EM bofomgdbyg 3FomdOLSL VOHWBE0sE 5d0bdo
b. H9Lgdom 5655 Qom350oLfobgdmwo

c. Hm9boG LEFMTomMYOOLOMZ0L AOTMOME0 EIBYSIEM0 bsfowgdo Ggodargds 50dmBboglL
39903990 dsdgz0lL J39d

The correct answer is: ©m©9LsE B35 GOOLHMZ0L QOFMONMEO YBYIAGIMO bsfowgdo Ggodangds
5©0dmPBgL 2odmfizgwyero dsdgzol J3qd

126 ) HMIger 5Q0q0do bs J0gMmEIL 2oaLoEbo s0(gds YbysTEIE bsfowgdls?
(0mbero
27 33)

506B0g 9MHmOo:



a. 5953M9d0LsM30L bgarboy®mge 5EYO0Wgddo
b. Boegd530L5996 FoLMRM5390vE0 S YOE9dT0
c. 396(9gLob go93900L 096 F0MOMYdIE SO 9dTO

The correct answer is: Lo090530L5996 QoURMH390E SEYOWYdT0

127 ) 0515939000 007 565 LMot 500l IMIHBYdOL MM IYg9bydmEo sdoffgdols
©@OHM9d0m Inblbs? (dMbero 27 3 5) soMbBog ghmo:

a. obYI39005, M 53l I0MbMgL TglolitrmEgdgEo Bsd ) dsml boliosmo
b. ©5mM839dgos

The correct answer is: 5153039005, v 5351 d0MbMZL gLolirmEgdgEo Bsd)doml bollosmo

128 ) 306 sbmM 309090l ©sd0fgd0l MHMgd0om ImbLLL s dob bywdgmego oYdsL? (dbero 27 3
5)

50MB0g 9MHmo:
a. dM0500b 930930 LodMFomb AFoMTMGdOL gobotyrmegdom

b. m3965¢00, 3960530 — bsMgmbEM 39OLMBs0 96 gobfglol 2593900l domomgdom
Lodwgdoml domdmgdgwo

c. 11 55335¢008035300 X 3IB0L dJmbg 3060 LotrgdImbE ™ 39MLMbswosb

The correct answer is: 396530990, 3960530 = LsMgMbEM 39MmLMBIWO 56 obfgliols god39dols
9000009000 -B53)domb AHoMIMYdgO

129 ) 1000 33599 99dBHOM65YM93d0, 9l9d00d 30fgd9d0L BmbLbs-sYgbgdol
M3965(30900L gL gdoL MeEgds gdangzs gHom 3ozl M3GMOGOIO 56 M39MsE0r)en-
B5699MbE™M 39MOLMBsE06, gengdBHOMMBSBODHMIIOL 56015653 god. . . (AMbero 27 3 7) s060Boy
96»o:

a. IV xamaom
b. lll xamx00
c. VxXaM5om
d. 1 X380,

The correct answer is: lll xamzom



130 ) 1000 3 Gb Bgdm 9egdGO ™Mb 0Mgdd0, Haligdom ©sdofgdgdols Imblbs-
05995900 Mm396M530930L GuM¥IEgdoL )engds 9deg3s . . . (Bbero 27 3 7) s06mHBoY gBoo:

a. 960 91353L MBsBOMbMYdOL IV X aMz0m

b. 06 3do3L 9egdBHOMMLIROMbMGIOL 11 15335C0R03530M XAIBOD

c. 06 37853L OGP GONL (39M5EH0IE0 b M3GHOG0 — LMgdmbEm 3gMlimbaogols
390500396 Md0sB) Mbs 3JMmbgl MLsROMBMGdOL IV Xama30, bmerm dgmedgl - Il xama3o

The correct answer is: =6 3v9do3L HMIJEM Q96 GODL (M39M5EH0ME0 56 M39MOE0E = BoMgdmbEm

396LMbseol 89850096 Md0IB) b 3Jmbgl MLOgOPBMYdOL IV x50, beaenm dgmMgls - i

XdI30

131 ) Gmdgeo 9e9dGHOMEIBYIM0 0003¢gds IMddgE JgdEHMbIYsMs©? (dMbero 2. 3.20)
50MB0g 9OH»O:

a. 259565)0909w0 IMfYmdowrmdgdol, §3gLsam®gdol s Jsmo 9dsgmmgdgwro
999 GHOIE0 HsBIOOL GOMNMILOMDS

b. 994 GHOMB5AM0 56 Jobo BB, MMIgero 0dymBqds dsd30L J398 96 GMIgEbsos
153N ESGOM 335M5E0L BsOIMZ3000 Fgodangds dogfimml dsd3s

The correct answer is: 9¢29J&HO™65YM0 56 Jobo MB560, MMIgero 0dymeRqds dsd30L J390 96
HMIgbsg L3MIMEOEF0M 3356M5EOL Bo®M300 Fgodwgds Joghmml dsdgzs

132) 1000 3 35¢05¢00 d5d30L La3sgMm bsbgdo Mbws sdofrgl yzgws godsbsfowrgdgen
9fymdoMmd580 s 3slgd30MmboMgdgE 5356053096, LEOIBS FoTMMNIE0s byBo. fgligdoo
65 4590bs 3ol 8390o? (dbero 28 3 1) s0MHbog 9O mO:

a. 35 33 s 99@0 dsd30L Lgab-9d0, OMAGWME 5930 F96IEHMYdGOO, 56 0fEIL 53 4963 EHMYd5dBY
809mH ™90 J39L5MMY0T0, 00 30OHMBOM, Md L3sgMM bsbo LBOfYOM0s MMOZy FbGOL
Q5 53 939L5PM9dT0 530fYOIO0 OY96gd0S QSTMOMME LEBSBM Q5800d39wgdol 9999

b. Lo3sgem bsbbg bo3dsM0Los FOHIOOL OY96gds FBMEME Lodw)dom sy

The correct answer is: 35 33 5 39@&0 ds030L Lgab-9d0, OMIGW D3 99300 J96IEHMYdJd0, 56 soficogl
50 25683ng09dbg d0gOHMYd J39L5YMJOd0, 08 30MMB0M, HMT Lo359MHM bsBO WFOfgdWwos
6039 IOH0D s 53 J39L5AM9dT0 s30fIOIO0 9YgbgdI0s QTN Lsbsbm

2980008399d0l 99909y

133 ) 1000 3 3505¢00 d5d30L La3sgMm bsbgdo Mbs sdofrgb yzgwrs godsbsfiowrgdgen
90fymdoMmd580 s 3slgd30MmboMGdgE 53565396, LE0IBS FoAMMMNI0s byBo. fgligdoom
5 4590bs3obos s839do? (dbero 28 3 1) soMbog ghmo:



a. obvd39005 6-10 33 Lgab-900 sdofigl bmeme 9P 4d-do 56 gMom Tsbigdombomgdger
335M5@M3b, 96 23-LEB s FolYJ30MbOMYdYEI 53505EJOMD LYbeErMgls 56dsBY. 53 dsd30L
565MB76 23-9080 o FoLYd30MbOMYOIEIE 5356153JOM B, Lo FoTMMMNIE0s BYb, L3900
090 56 5309l 0d 3oMMdom, MHMA BYb-bg sd0fgds oYgbgdEo 046905 Lodwdom 5O
Q5 50 33-bs 96 ol 30MboMYOYE 535M5GL Fa0l

b. Lo3sg6mm bsbbg bo3doM0L0s FOHIOOL OY96gds FBMEM LoBw)dom s

The correct answer is: 15339005 6-10 33 Lgab-9d0 sdofigl bmeme 9o 9d-do 6 g

95199 30Mmb0MGOY 5356153H9H, 56 28-S s Folgd30MbOMYOY 5356153HJOMb »Yobermgls 56dsby.
50 o030l sbsMPRYD 28-90d0 s FoLYJ30MBOMYOYEIED 53565FJOMB, BoOE JOTMOMME0S bgab,
515939005 00 56 sd0fgl 00 3oMMdOM, MHMA Lgab-bg sT0fgds oYgbgdo 046905 Lodwydom
530S s 58 33-bs 96 Fslgd30MbOMmYIGE 535M5EL FmGOL

134 ) Lo 5033905 1000 3 G583 s30{9de bgo@EMowosb
999 GHMM650yM9dT0 goslo@obo sdofgdol 649m3zsb 458EIMMsb dogMHmgds?

(8mbero 28 3 8) s0mB0g gPmo:
a. 63560 359G gobdgmMgdom sdofjgdol 9gdmbgggzsdo

b. Polgdom s3MdsErmEos
The correct answer is: 63560 459@9M0L 2obdgmEd00 sdofjgdol gdmbgzgzsdo

135 ) §9L9d00m, M3gMHGOWM 56 M3gMoE0WNW-bsMYIMBEM 39OLMBsL MREgds 5J3L
96003060365 259MOMML ©sd530{gdgo 6900, ) Jomo gergdBHMmMLsRMMbmgdols
X3R0S 5605653090 ... (Bgbero 28 3 10) s0MB0g gPmo:

a.
b. IV
c. Vi
d.Vv

The correct answer is: lll

136 ) ®mdgo 305353900 965 g5dm030ML dsd30L J398 sMBgboen
0969533 5M0bsfogdol EMHMYd0m MdMEOdHY? (Imbero 29 3 2) soMBog gomo:

a. 96 5b30009 IMY353L!
b. bgd! dsd3z0s

The correct answer is: bgd! dod355



137 ) Gm3go 3¢053530 965 godmo30mb 35M90Ls s 3569egdbY, LsdMTsm 50Ol
9bOBO3MY LoMOZLMYIOL VMBMHGdDY? (Bmbero 29 3 4) s0MHBoYg ghmo:

a. ,,begd! dodgss!l”
b. ,,06 sbgz009! dmyzeogl!”
C. ,,56 BsOOM»! FMTomdL boerbo!”

The correct answer is: ,,bogd! dodgos!”

138 ) dmgdgoo {igligdom Imombm3zqds ) 56, V0 35856sFowgdgwr dmfymdowMmdsdo dgmes©
£6909030 963509300 ddomdol MM, Lydwmdom sPO0WOol F9dmnemdgzs? (dMbero 29 3 5)
50MB0g 9Mmo:

a. 5 ImombM3z90s
b. dmombmggds

The correct answer is: 56 dmombmggds

139 ) Gmdgero 3¢03530 1B ©5030ML V0 J5856sfowgdgwro dmfigmdowmdols 0d

3MbLAHOI3090Dg, HMIGEMS 2530mS3 FgLodegdgeros Bod ) dom 500 dsd30L 3938 Igmey
9byBE3Mg MObsdg Jolges? (3mbero 29 3 6)

506B0g 9MHmOo:

a. o6 sb30009. dMY3eogL!
b. bgd! dsd355

¢. 089985390 o

The correct answer is: bgd! dod359

140 ) 65 90bs5OLOL 3e535¢0 MBS 399030MUL, 3MBLEMI309dLS S LGSEOMbW e
3009909, MMIgdbY3 6905IMMME0s S13es BT Tomgdol glolitrergdws? (dbero 29 3
6) s0MBog gPmo:

a. ,,00m05390 54"

b. ,,50000 59"



The correct answer is: ,,50000 57"

141 ) Gmdgo 303530 1Ibs godmo30mb Bgdmm sbsligergms® 69dsstmMwo
30bLEAHOI300L IbEBO3MY 3mbLEMW305D9? (FMbero 29 3 6) s0MBog gPHmo:

a. ,,56 5b3009. LubozzEOWMs!”
b. bgd dsdgz0

The correct answer is: ,,56 sb300g. LollozzowMms!”

142 ) 3000090 Ls3domgdo, OMIIO0E 5O 969393690 L3gEoswME bsdMFomgdl. (Imbero 4. 3
5.)

50MB0g 9MHmo:

a. 35 33 5 39BH0 35030l 250565(0gdge0 IMfYmdOMdIBOLS S BHOMIBLRMMTSGHMO IO
69dmb@o

b. 3m{gmdomdols 359mE 5850930 dsd300 (Q9M©s 39yoMadgEHM0 LsdMTomgdols) c.
950030 bdMTomgdo
d. Lodw)8omgdo dsd30L 9398 IbYSAEIG bofioergd by

The correct answer is: 35 33 5 39@&0 do030L godsbsffogdgewo dmfYmdoEMdgdoLy s
AOBLBMOT>GMMGOOL M9dmbEHo

143 ) B53M»300m556 OHMIGe 919 EHOMEIBYMOBY 31TomdoLIL MBS 250Mm030ML

353530
100853900 59"? (8bero 29 3 7)

506bB0g 9MHmo:

a. LO359MH™M bHyBHdBY

b. 83D 9gd)e LsdMTom 5P DY oM byab-gdoLs s 13gabg-dols
c. 1o35d9gEM bsBgdby

The correct answer is: 3mdbogd9 BodMFom 5O DHY oM bgab-gdoLS s 1i39abg-dols

144 ) 990d9ds, 0379 565 IMIbsYO LodMTom 50 DY IMObLLSL 56 FoosYOEIL
309353900 5 MdMMYO0 b5FToml INEP0BIE TN 9309353 ? (FMbero 29 3 8) soMbog 9O ™O:

a. 6905MMI0s



b. 5360005, 450 FbHLOL ,,(39¢ 39990 FJOMOMYdJI0” -0l x50 BsfigMowo
d900bg93900L0

The correct answer is: 5360d5)05, FOOS 256(gLOL ,,(35¢0 390 F00MYOYO0"-0l G550
Bofgoeo d98mbggzqdolos

145 ) 30909 9E9JdGHOI0 39oL T MdOL LOWOY, HMITOL EOHMBS3 Bwdsmdols
O™ 5655 d9bemmwo. (3Mbwro 30 3 1) s06Bog ghmo:

a. 25 33/0
b.5 33/d
c. 20 33/0

The correct answer is: 5 33/0

146 ) dcmgdgo Hglgdom gegd@H™MIMe390%Yg, GMIgEe LsFMTomms GglEeErgdolsls ImombMmzgds
dobo o8mMOHmM35? (Imbero 34 3 1) s0MBog gomo:

a. 993dGHMMAM5390Dg 08 LodMTomms LMY gdOLLL, OHMIJLOE 39300MYOXWOS
096993356 b5{owqdHg 99bgdsliomsh. 08 39doboBdgdol FdMBeg Bofiorgd by dwgdsmdolisl,
MMIgeo 8mdMomd5do dm3gogl 9egdGHO™mAMs3oL

b. 00 15319d5mgdOLIL HMTYOE 9353006930 JErgdBHOMIM 30l J0gH IO OMBSTO
9my35600 894960Bdgd0L 1o30LMgdT0 DYoL BTsEHYdSLMSH

The correct answer is: 90093 MIM5390Dg 00 BodTomms FgLOMEgdOLLL, HMIgEo3
0535330090905 9B E ) bofowgdbg dgbgdsli;msh. 08 39ds60Bgdol ddMBog bofowrgd by
905mdoLL, HMIgEoE IMdMMdSF0 IM3YsgL gergd@®mmIMogzsl

147 ) 66 bs Igltrarql 1000 3-dg dsd30L gargd@®H™dm539080 bo3sdgEm bsbols
0530905 909G MIM530L FBOOIB, 1Y 350900l JoMPZJBOL 339000 56 0IEY3s F9ILOEBO
580{900L 5EYdOL L gdsL? (FMbero 34 3 2) s0MBog 9Hmo:

a. Booblibsb 39090 IM5300s6 s BsdM030ML 3e5353)0 ,,b009d d50355”

b. 153509 M bsBO MBS EsTofGL 5M565309d 35090l JsM30L 3390l BL30EGBAOL FodE>MO.
3996009l 35090l 43900 MO0 S 393JNEIB 0OBMEIS(300

The correct answer is: 1153509 bsbo Mbs TOHOIL 9G565309d 39390l do®30l 339000

1309gbdol god@sM0m. F99MHMEIL 35090l 439e0s ASMMIZO WS J93INEIB OBMEIS(300



148 ) 65 90b55OLOL 3¢535¢0 MBS 259t003000ML bd)Fscms FgloliMEgdEs©

3900OHMo 9egdGHOMIM530L 339M00 OIPYTME GEgGOMIM3Dg? (Ambero 34 3 5)
50MB0g 9OH™O:

a. ,,560 BsOOM»! IMTomdL boerbo”
b. ,,beogd dsd3z55”
c. ,,56 530009 Lo ZZ3OEMS”

The correct answer is: ,,bogd do5d355”

149 ) MLOsBOHDHHMYOOL B> DMdgdo »bs 0dbgl Jowgdero 3md3wgdGwmeo
399565G0wgd9wo dmfigmdowmdol 3565900l 653390019080 31Fomdolsl? (Imbero 36 3
1) s06Bog groo:

a. 00 65339009930 LG 3935w olHobgdwos 3Fsmds, 259Mm030ML 3es353)0 ,,b09d! dsd3s.”

b. 16035 530l IMfYmdow™mdom MbEs 498MmAMMEIL s YL LoMgIMbEM IYMTsMgMdsdo, 0d

6533900600L GoM©s MG ol IHRSFGHIMO Bsfowrgdo MRS dsd30L J39d, MBS 039G ™ML
0gdemdom s 2odm030Mmb 3es35¢0 “bogd! dsd395". MM035%Y 96 6533907MT0, Lo

390035¢0L{0b670ME0s 37 Fomds, b 259M030Mb 353530 ,,008539 o9.”

€. ©50393™b B139gBH0M Y39s 396M50L 396930 96 BIMOS, FodM0ZMHL 3e535F0 ,,50 BsGMm
3dsmdL boerbo.”

The correct answer is: ©)©035 35306 dM{gmd0W D00 vbS 259MMOOIL S OAIL LoMIGIMbEH M
9 Md569mdsdo, 08 65339009MH0OL BoMmS HMBYEdoE IBASIEBHM0 bsfowgdo oGBS dsd30L J399,
765 ©5039FHML dtgdwmdom s odmo30Mmb 353530 “Brgd! dod358". 1MH035DY 96 bs33900MMT0,
BoOE 29035¢0lHobgdE0s Bdomds, 1bEs o8Mm030ML 3e0s35¢)0 ,,08998539 5.”

150 ) Hmdgero 3¢0353900L 359M 300905 5ME0MIdIE0 3MA3gd@ Mo 4sdsbsfowgdgwro
9fymdomdgdol 30609090Dg, 59 mHymdOw™MdIdOL Focmgo dogHmMYOIE
9fymdomdgdHg dmdsmdolisl? (8xbaro 36 3 2) s0M®Bog gMmo:

a. ,,bgd! dsdgss!”
b. ,,00590{9dwo0s”
C. ,,56 BSOOM®! 3MTomdod bobBg!” 96 ,,560 Bsronmom! 32935mdl boenbo”

The correct answer is: ,,56 Bs®0OM®! 3MFomdss boBBg!” 96 ,,560 BsGoOmm! 3mdomdlL boerbo”



151 ) MLsgOHDBMGIOL M5 DMdd0 vbs 0dbsl Fogdmo 3083¢gdGHvIMo 250sbsforgdguo
3fymdoEMmdol gotmgo dslBg JogMmgdme obsYsMgdBY b Boligsb 453535¢ LodsgMm o
153599 m bsbgdHg 89domdolisls? (dmbero 36 3 2) soMBog ghmo:

a. 3339dGHO0 58565509090 IMFYMdOEIMIOL BoMmYODY 96 35M9d9dbY 2odmo3oEML
353530 ,,0530(90M 05"

b. 59301390560 035 5930093 J0s Q5FMAMMEIL 39650 D LEMGIMBEM EYMIsMgmdsdo,
BMS 96 3960900 5039GML BO3YGHOM s FoDBY 39dM030ML 3¢5353gd0 “s6 BsBIOMm!
39domdsd babBg!" 96 “56 Bsronmo! 3 Fomdl bogwbo"

c. B50393H™MUL Y395 65339009ML RS 2oL50GB0M S J58M030ML 3¢03530 ,,00998539 of.”

The correct answer is: 50303900560 MM035 59300 GdJ0s Q5FMAMOEIL 35O LoMGIMbE ™
90 M35Mm9Md570, RS 96 3560930 s039G™ML B39EHO0 s Bo0DY A99M030ML 3¢0353JOO0 “56
Bo®mm! 3domdos bosbbg!" 96 “ob BoGonmm! 3dsmdl boeobo"

152 ) {9bgdom, Hdgen LsdMomoms dgLoliMvEgdEsss 67dsIMMMEO
3003¢9d GO0 250565(0gdgeo Imfymdowmdol 3565gddo sdmIOHmM39wosbo
<030L Bo3MBEHMMEM JEAMTMYMdST0 ©sY)bgds? (FMbero 36 3 3) soMBog 9hmo:

a. oOmM30L5 S OE30L HMggddo Imbobx30Ls s LEFMTomgdolsm3zol, 1) F0[gds
d9LHME9dY0s 3nI3gJGHIOO godsbsfowgdgwo Imfiymdowwmdol 3sMogddo

b. 3339dGH 60 459565009090 IMFYMmdoE™Mdol gocmqom, dolBg dogemmgd e
9fymdoEMmdsHg Boddomgdol Ho®mmgdobols, 0399 BsGIM0s s3530(909w0 s6Jd0, JogMsd 56
360 dEPMZ0MYdS ©d50(9d9gE 6JBLS S SFMIMMZIE0b ¥YMH0 3ol FmEOL

The correct answer is: 35OG™30L5 5 5330V §Mggddo MbObx30Ls s LHTMTomgdoLsM30L, 0149
530905 IgLOgdMWos 30839 EIO0 Fodsbsfiogdgwo dmfYmdoErMmdOL 35M5©Ydd0

153 ) domomgo Lsdwdom, GMIWoa gobg39m369ds bdgE0sw® LsdMTomgdl. (3mbero 4. 3 5.)
506bB0g 9MHmo:

a. 35 33 s 99@0 35030l 50565(0e9d9gw0 IMfYMdoEMdGOOLS S BHEMBLRMMTsEHMMYdOL M9dmbEO
b. doerm3560 GMBLBMOBsEHMOHOL 0BMWHE00L 30bGHOMEOL goBMAZs

c. LOGEBLRMO Ao MMM 3MBJBHJOOL s30[gdOL 3MBEMMOL Fobsmmdol Loowob ysbmadgzs

d. Lodw)domgdo dsd30L 9398 gbYsTEHIG bofiorgd by

The correct answer is: 1539935900 dsd30L 9390 Y65 bofiorgd by



154 ) ©5b5339009, M) 565 IOOL FMIBLBMEOTsEHMOOL IgMMSE AMABo DY bsMrcreo
069000b 25%y393)9? (3mbero 41 3 1) s06Bog gMmo:

a. obY339005, MMEYLSE BTN T SbMM30YEGOL V ©sd3900L 15 335¢08303530M X3ROl dJmby
LoMGIMDEGHM 39MHLMbsero

b. 530domos

The correct answer is: 5360ds0

155 ) ©0960L GHGbLRMOT>EMEOHOL IgMES© Moabow by BsMmnmwo gargdGermwo

069000b gob5H9Y393 90, OMIgEr 50l MBS sYgbgl BVs®O? (Bxmbero 41 3 1)
50MB0g 9OH»O:

a. ©9bols BHEBLEMOTsEHMMOL FbOHOWIB 45H939EOL BogsMIM 5YOEAY

b. &®obLBMOT>GMM0IB FobvHg39@0 S0l G909
The correct answer is: 960 &GoblBMOTsEHMOOL TGO Fofy39EHoL LogzsMsEM SEPOWsTY

156 ) dcmgdgco Halgdom, Mo dmmbm3bgd0s Foygbgdeo bos3mdmws@Em®m Lomeglcml dodsmm?
(89bero 42 3 1, 2) s06Mbog

960!

a. BomgLM 1bs 0g4Mmb ©539EH0W0 Bs39BHOM. 1553 SEMMM Bomoglml 356M9dqdBY
393999000 bs 0gmb HomfgMgdo ,,L55399MEsEHMO™”, ,,dm(935 530d5EE0s”,
»(393bLsdodos”

b. 15539999 EGMOML 3560930 96O 0gmb WoMMbob. bos3BMWsEHMOM Bomoglim
9306390790990 MbS 04Mmb 3583900

The correct answer is: Lomo3LM b 0gML 39300 B53YEHO0M. B553MTMEE MMM Ly 3L

39690909 35390900 bs 0gml HomgMgdo ,,L053299MoGMOM”, ,,0mf935 530> 0s”,
»393bXLd0d0s"

157) 8990030 5030ebHg dofjols bodwdsmgdols Fo@dmgdolsl, dmddgwo F9lgdoom, dmombmgzgds
0¥ 565 ©MIMMHJODY 498583MMbOWGdY0 3¢5353JO0L 25dM300gds (0580 Lssmgddo -
Lologbowrm 25650939)? (Ambero 44 3 6) s0MHB0Y gOMO:

a. ImombM3z90s

b. 56 dmombmgqds



The correct answer is: 3mom»bmggds

158 ) dcmgdgcoo Halgdom, Mo gdmbgzg35d05 OLETZ900 SOBOL oMb 39WgdOL A5ToaMgdOL
3969dg?
(89bero 44 3 7) s06Bog

960!

a. L@ 96 b3ge AMMBEGHBY F9domdolsl

b. 03 5Gbgd0L obEOOLL, HMIYET0E 5930GOJ0s 5Q5d056700L ymxbo

c. 3b3096 3M6Ed0, FMMBEOL 8MBYdMO30 BIMEMOOL 3MbOL Fglivdsdolo IHGHOWMBO

The correct answer is: 3b3096 3®x96&do, gMmbEHOL 8bgdM030 BIMMIOL 3MbOL
d9L505d0LO  IBOOEMIOM

159 ) 999 GHOMMLsROMbMGdIOL Mo 2930 ©9bws 3Jmbogl LsdMTomms
3HoMIMgdgl, 250000 090 dsd30m JE9dEHMMEIBYMYIOOL 5dmEOLLL? (3 61 3 3)
50MB0g 9OH»O:

a. 9M56539d IV ¥ a0

b. 5605653e9d V xama30

C. 905653 9d Il Xyma30
The correct answer is: 5056530099 IV X330

160) MLsROMHBMYOOL MMIGE0 X230l IJmbg dM0QSOL 93609l 59300 MBGds Bss@sHmb

390m(305?
(8mbero 61 3 3) s0MBoY

960!

a. 90565393 111 15335¢008303530M X 3IBoL dJmbg
b. 560565390 11 1533500303530 X AIBOL dJmby

€. 96565393 1V B5335¢005303530M X B30l dJmbg
The correct answer is: 505653093 1l 5335053035300 X 2ROl IJmby



161 ) HmIgan 3e053530L 5949b9gdl, 250000 dsd30m 4533005 gobfiglom sd37dwwo
396LMbs0o, 458MbOEEIO S A5TMIFPYMO IBSYIOOL PMBMEOODY? (Fmbero 61 3 8)
50MB0g 9OH™O:

a. bLgd dsdz
b. 09193539 59
C. 399M(30059, L5d0d0s LoEMEbEOLsMZ0L

The correct answer is: 459030055, 1580305 LogmEberolsmzol

162 ) 515339005, M) 56, 35dMEOL BoE9M9d5d0 bgerolidgddemguo sdofgdols dmblbs o
bgaobens oygbgds? (dmbaro 61 3 12) so6Bog 9O mo:

a. obY339009, IBMEME 53M(300L byeErdd®3569ol J0M0MGO0m oo dsd30L godmdyzsbols
530{900bL 9909y

b. ©sl5d39009 yz9ws d9dmbggz5do

The correct answer is: 515339005, I M 25dM 3000l byeErdd®3s69wol F0M0MGIOm Fo®owo
35030l 359mdY3z560l sdofgdol d9dge

163 ) domomgo L domgdo, HMIId0E 2969329336905 b3g305EE LsdMTomgdl. (3xbero 4. 3 5.)
50MbB0g 9MHmo:

a. 353560 GH®MBLBMOT>GHMOOL MJdo B3l EIBOL gobmIgs

b. doemg560 GMBLBMOoBHMGOL BHEMIBLRMMT>300L 3m95303096E@OL gbLLbBLIMS

¢. 350030 B3 Fomgd0

d. 35 33 5 39&0 35030 50565)0e9d9gw0 IMfYMdoEMdGOOLS S BHEMBLRMMTsEHMMYdOL M9dmbEO

The correct answer is: 350030 b53TomgdO

164 ) 500963 3985305 mbs Fgoler¥yemls Lodw)dsmgdo gergdGHOmysdbmdo
9omfmbgdom 49635Mmmgdoom 1000 3 Bgdmm gegd@®mmEsboyscgddo? (dMmbwro 62 3
1) s06Bog groo:

a. 2
b.3

c. 4



The correct answer is: 2

165 ) 994 BHOMMLIROMbMYdOL HMIYo X aR0 bs 3Jmbgl dds3gdl, 1000 3 Bgdmm
999 GOHMB5AM9dT0 25635602 gdom 9engd@®mMYsdBMTo Joefmbgdom ddomdolsol? (dxbero
6231)

506B0g 9MHmo:

a. @M039 lll x3Mx00,m
b. 9600 IV xamz00m dgmeg |l xama00
c. 9600 Il xqm5300 dgmO] Il Xamz300m

d. 9600 IV x50, dgmeg Il x39300
The correct answer is: 9000 IV xgma300 9969 lll X ymz3000

166 ) 6905MMMW0s, JEgdBHO™AIBMI0 bgwlisfymgdoo 1000 3-09 sbsMYdT0
00399350 90 ds 34935305 9e9dGHOMMLIRONBMYOOL 5M5bS39d....... X3RO0 (3mbero 62 3 2)
50MB0g 9OH»O:

a.Vv
b. IV
c. i

The correct answer is: Il

167 ) 3090009 m, HMEOL 5G5S bOFOMHM 0GB 30 byEMmMTBYIOOL 2odmygbgds? (dmbero
62 3 3)

506bB0g 9MHmo:
a. 1000 3 H99m01 65569330 9e9dGOMysdBMB0 FoMmbgdom 3Fomdobsls
b. 458%B™d0 93sby001 ddomdolsls

The correct answer is: 453Hmdo 9Eobyom d9dsmdobols

168 ) 5896 393536 F9md0s Fgoliergenml 11sdmdsmgdo 4sdBMTo Ebagdom? sGbs3wgd. . .
(8mbero 62 3 3) s0mBoY

9600:



The correct answer is: 2

169 ) 999 BHOMMLIROMbMGdIOL HMTYo ¥ 2930 96s 3Jmbogl godBmdo FEsbyoom
9098539 3999539002 (dMbero 62 3 3) s0MHB0g gHMO:

a. 96OmL Mbs 3Jmbgl IV, ©sbseBgbgdL Il

b. 900U 111, ©3BsOR7640L II

c. m0ogqL Il

The correct answer is: 90mL b5 3Jmbgl IV, ©s6s®RgbgdU Il

170 ) 3000090 godNOM s 0[N bo359MM bsHbYg 083EbmEO gsdbmdo
bgabsfiyml dogHmgdol Mm39Ms30sms LHMOO 0s6308g3MMds. (Bbero 63 3 1) soMbBog ghmo:

a. 1-8996n gl 993590009390 259EM0 L3596 bsBOL YodEHIME 0BMEPOMdMEO 83sbyol
99039M00m; 2-d99OHNIL F98596:00909w0 459EM0 033 lwMHo LyBMIol sdofjgdme

399396000 Mmd5Lm5b (93930 BMFYMdOMO0D 458MmT535¢00); 3-8rmoblibsl sdofigds 0d3wmwlivy®do
LoBMAOL 45943560eMd0IL; 4-3mobLbSL sB0fgds Lodsgm bsbol 03 dmermdo Lowsa b
9096000 9L 0339bIHo LoBmdo

b. 1-899600@9L 993590009390 g5d3H>M0 08349l Lsbmdol sdofgdre

399396000 d5Lm5b (93530 BMFYMDOMO0ED 58MmTo35¢0); 2-8996000©9L F959HNYOJO
399900 L5359MH M bsBOL J9dEIMMb 0BMWOMmgdMo Esbaol d9939md0m; 3-8moblibsls sdofgds
153596 bsBoL 08 dEMdo LS b 0gMMNEIL 03 LMEO BsbMBo; 4-00bLBSL EsT0(gds
008399 lwOH0o LsbDMIob goyz9b0EMd0EI6

The correct answer is: 1-999000©9l 898596090900 459@560 0330)bM0 LEBMIOL EsTofgdE
399396000 d5bm5b (593530 FMFYMDdOEIMB0EL Q9dMTs35(0); 2-899MH ML 93590009090
399900 L5359MH M bsBOL Q99BN Mb 0BMWOMmgdMO Esbaol 39939md00; 3-0moblibols sdofjgds
153596 bsBoL 08 dmemPo Loss Mbs JogMmNEIL 033 lvIHO Lsbmdo; 4-0moblibsl sF0(gds
00939)lvm0 LoBMAoL goy3560e™d0EI6

171 ) 03329960 LsHMIoL 2593560 MdOL Lo3sgHm bsBmb JogMHmgds BydosMmmEos
395LOEMb 0DME0MGIME0 IEsbol 39dz9mdom, 30035 M39MOE0Oo 39MmLMbsols
090500396 d0@B 9egd@HOHMMBsBOHMbMYdOL 565653190 . .. X2B0m. (Ao 63 3 2) s0MBoy
9600:



a.Vv
b. IV
c. ll
d.

The correct answer is: IV

172 ) 9094 GHO®Mbsn@mnbmgdols Hm3gwo 306085¢rm@mo x50 1bos 3Jmbogl 3Mogsobl §93690L
960l BHEMBLRMMT>EHMMGOMb d0gMmYde gargd@Eemdmhosblzgugdol §iMggddo dodsmdolsl?
(8mbero 74 3.9) soMBog

9600:

a. lll > IV

b. Il s III

c. dbmgome Il

The correct answer is: Il s IV

173 ) Gs 99000b3935305 L5390 456395029 gd0m LsTMTomms Fglicrmargds, gbols
G®BLRMOT>EHMOHYIMb 0gMHgd 9egdGHO™IN03EH3YgdDY dsd30L Immblbgwsw? (Imbaro 74
3.9)

506B0g 9MHmo:

a. 099 999dGHMm™IO03b39eq00L [Md0 56 5GOL 0ligmo 3630 (dem39d0), HMIWIdoE
009935 32990500 Bodv)oEgdIL EYBOL BHEMBLFZMOToEMMHOL FgmEsEO Msabool {Hgwoby
809600900 090900l BsblboL gocgdy

b. 099 99 GHO™IO03b39wq00L §M9gdo s®ol 0lgmo 3mbESJEJd0 (0em3gd0), GMIdO3
009935 329850l 6xdM00350, YBOL BHEMBLFEMMOTsEHMMOL FgmEdEO Msabowol {Hgwo by

9096009390 690900l Q9BOHMZ0L Q569dY

The correct answer is: 0¥) 9994 GHM®IO03b39w900L fiMgdo sGol oligmo 3mbEsg@gdo (derm3gdo),
MIwgdoE 09935 39935md0L BxdsMM35L, IBOL BHEOBLFMOTsEHMMOL FgMMOEO FMogbowrols
06909 309m0 900 [HM9q00L 2bOHM30L doMgdg

174 ) 3000090 bsdw)dscm, HMIwog 396939036905 1393050 BsdMTomgdl. (Bxmbero 4. 3 5.)
506B0g 9MHmO:

a. 35 33 s 39@0 35030l 50565(0egd9gw0 IMfYMdOEMdGOOLS S BHEMBLRMMIsEHMMYdOL M9dmbEo



b. doermz560 GMBLBMEOoEHMOT0 65356029 d0L BLOAIESZMOL AIBLSBOZMS
c. 3mfymdoEmdol 459m(3009 5350900 dsdZ00 (FoMS 395mATgEMOm Lodwdomgdols)
d. LoGMIBLBMOT>GMOM 65893500 BgmOl Mga9bgGs300

The correct answer is: Im{ymdoEMmd0lL 453M(3009 53500 JsdZ0M (F9MS gaomddgEHom
153 F5MmgdoLs)

175 ) 6305050002105 04 5605 900 Bomoglmdo 4sbeoggdEo bbgsalibgs
9065960l 9e9d@GmHMIM03EH39wgdBg 8dsmds gM00 gobfiglom? (dmbero 74 3.10)
506B0g 9MHmo:

a. 69050

b. 536d5E0s

The correct answer is: 550550

176 ) 9cgd900 909G ©sbsYM9dT0 330053 35656900l s dggoboBIgdol 3sdmygbgdom
905mds bs J0d0bsMgMmdIU... (3mbero 77 3 2)

50MB0g 9MHmo:

a. 3090bsMy gdu3esGOE00l 306Md9dT0
b. 963563 gdom

c. 356(glboo

The correct answer is: 356(glboom

177 ') 30L0 39035 YOHIMd0m 1B FoMdmgdgl 1000 3-000g 0ad-8o s Lgab-ob s;330L Bmbsdo
533™IMd0oE0L, G300m5d(g 356J96930L5 s 8gdsboBIGdOL IMAMSMDS, F5000 Y969ds S FMToMdS?
(8mbero 77 3 4) s06Bog

960!

a. lll x3mx30bL dJmbg Igmgzscygmemols

b. 8609 396LMbsEols gm35wYMHYMdO

c. IV xamg30L 9dmbg Boddsml dfomdmgdarol 39m350yr)Hgmdoo

The correct answer is: IV xa530L dJmbg Lodwgdsml 3Homdmgderols 39m35¢g«)mgmdoo



178 ) 0p3-do 65 LoBJoM00d gm0 o5 Y[09ds 39JoboBdGOBS S 53EHMIMdOWGIL? (IMbero 77
3
5)

506B0g 9MHmo:

a. 551999BH9b 5 30/Lo
b. 505m39@gL 10 38/Lo
c. 5651999FH9b 15 30/

The correct answer is: 5059393 9L 10 38/l

179 ) 55339005, ) 565 0LM060 BH30MMs3()g F9ds60BTYdOL Y9bYds S FMTomds dsd30L
9399 9gmazo 35 33-d09 Lgab-ol Logbgdol J39d? (dbero 77 3 7) soMhog gOMO:

a. obYIZ39005 (3939 d9dmbggzsdo

b. 536d5EM0s

The correct answer is: 536d>w)E0s

180 ) dcmgdgoo Hglgdom, HMEOL 56 FMOoMbM39ds 330039 Fobdsbgdols s
3999603900l ©sdofjgds? (Bxmbero 77 3 11) s06Bog 9Bmo:

a. 99 3693031900560 3060589 356496900 s 897sboBIGO0 ©sYggbgd oS bggar aM6E DY
(Fomd0, Bds s bgo)

b. v 36930m3930560 GH30M:58(g 356756930 s F9dsb0bIgd0 oYgbgd s dgEH™Mbol
L8339 d)

¢. ) 37bebom3eqd0sbo GH30Mmsdfg 356496900 s 39dsboBdgdo ©oygbgd s wdwmswm
dofoby

The correct answer is: 0>¢) 399bbom3gd0s60 BH30MmMsd(g 356796930 s 9dsbobdgdo
©599b9gdIos g3 dofisdy

181 ) oliymo b3 Fomgdol TguMEgdOLLL, MMEILIE 56 50U TgbodegdgEro FES30 JodMol

X590565 535309l 3MBLEHMMJE00LS s LoYgMYBYODY, Bodmygbgdwo Mbs 0gbsl: (dMbero 78 3

1) s06Bog geroo:

a. s3D03930 B520600, GMIGE0E Hobolifo® 0db9ds sMGOE0 30bLEHMYI305DYg, LoghHgbols
©9AHOWDY s 5.9.

b. &3060msd(g 356456900



The correct answer is: ©53H3930 353060, H®MIGE03 Hoboslfo® 0gb9ds ToaMm9dME0
3MbLEAHOI305Dg, LoyMgbol YEswbg s 5.0.

182 ) bo®sbmgdol, 5303sMbsggd0l, Lozogwol 655396930 bs G90moMMdML ;v Jsmo
LOdoMEg 3OWY6EOL BY30MH0EB 5gds@gds: (Bbero 78 3 3) s0MBOY gMmO:

a. 0,5 39ML
b. 1 39&HOL
c. 1,3 3964OL

The correct answer is: 1,3 9936

183 ) ®5 Bmdgd0 Mbs 0469l Jo®gdwo dsd30l J39d dgmao gbsdB M0 bsffowgdols Bgdmo
905mdoLsL BodsMX3900L S 0BLEBHMMIGBEHIOOL 35MIBOL 193000 SboEOWgdWsE? (FMbero 78 3 4)
50MB0g 9MHmo:

a. 0bLEBHMMIBEH9d0 J0030 MBS 0465 3MBLEMI 3059

b. 06LE®396&gd0 bS IMMogLEYL Bsbmsdo

The correct answer is: 06l®396@39d0 30030 1B 0465 3MbLE Y3059

184 ) dmgdgo fgligdom, dmombM3gds 049 5605, g3 YSESGOM Lfo®BMmTo doligErolsl,
15939690 M LoAMBES7M MMHR60B300L 3gMHLMBoOLsmMZ0L 0BLEMYIE o0l Bo@s09ds? (dMbero 80
3

4)

506bB0g 9MHmo:
a. 3mombM3z90s
b. 56 dmombmggds

The correct answer is: dmombmggds

185 ) 63055M0)05, M) 565 OLYMNO 456350930l TgiM¥)Egds, HTgeo3
900655089905 dmgddg MLIROMbMgdoL Hglgdol dmmbmzbgdl? (Bxmbero 4 3. 8) soMBog
9600:

a. 53MdoEME0d



b. 6905M0YY 05 go8Mbs 3ol d9dmbzg39gddo
c. 690505005 LofoMIML bgedd®3s569wmdol MbbIMdom

The correct answer is: 536doE)E0s

186 ) 306 sbmM309gdL L6dFgbgdM-L53MbESgM 39MLMbIOL 306H39ws 3390l
153w935mgdBY, GMIG003E IMoMbM3L JegdEHMMEIb5YMGOTO FodmMm39d0L Bodotgdsls o
d5030L 4399 IYymxzo gagdGO™s93980 bsBgdol 330l BMbsdo ymazbsls? (dxbero 80 3 6)
506B0g 9MHmo:

a. 005993900 Logdu3EYSGIEOM LOHoMIML 39MLMbIWOD
b. Lodd9b90@M-L5dMbE M MEYIBODBoGOOL 3sLbolidygdgeo d9aLEEgdgEo 3060

The correct answer is: 05393900 L59JU3Y5ESEOM LofoMIML 3gMHLMboEr0b

187 ) dcmgdgco0 Hgligdom Imombmggds, ) 565 LH3FgbgdwM LETMBESM MEYIBoBsGOOL
396LMBsEoL LHTMTom 50Ol T9IMMMOZS GEgdGOMLOIEAIMIOLS S J39LoYEOHGOdTO
9dsmdolsly? (3mbero 81 3

1)

50MB0g 9MOH»O:
a. ImombM3z90s
b. 56 dmombmggds

The correct answer is: dmombmggds

188 ) Hmpm6 MBS JgMH gl LsddgbdEM-lsdMbES7M BodmTomgdo LsddgbgdErM-LsdmbEsgMm
M560D3E00L 396HLMbsEol JogM, dmddgo gergd@MmmEsbsysMmgdoLs s JugdEMmMYSsd(3930
bsBg00oL o330l BMbsdo, 0¥ 158FgbgdM-bBMbE)S:M MMYIBODsEOOLIMZ0L Qodmymaowo
L5349 dsm BMbs 5655 F90mEMdOE0? (dmbero 82 3 2) s0MHB0g gMmo:

a. 153 FomgdL Sl OL bsddBYdEM-LTMbE M MEMYBODE0OL 3gMLMbogro, dogzw0bgd o
396LMbsEol MBEgdom, 390350y Mg 56 060dbgds

b. 153 TomgdL SLOYIEGOL BoTTY69dEIM-L5FMB O™ MOYIBODFOOL 39MLmbsoero,
159gU3Y5GSE0M LGOI FoMmBMBoYYBEOL BYEsTbgL3xEMdOm

The correct answer is: 153235090l SLEOWYYOL bFIIBYIOWM-LsTMbE M MEYIBODEOOL 3gMLmbagro,
L59gL3SESEOM LGB FomBMToqbEol Bysdbg3gEMmdOom



189 ) M5By 5390L 35Lv9bL, dmJdgo 9egdBHOMEIBsYIMOL Bmbsdo dmdmdsgy
15999693 ML5FMBE5M MOYbOBE00L 3gMLMbsrol dgmazswy®g? (dmbero 82 3 3)
506B0g 9MHmOo:

a. 360500l 930930l doge Loddxbgdem Bm®MIdOLS s Fglgdol 111-4-80 JmmbM3bs0s (335D

b. ©583900L EOHML 5996930 PMHMYO0O F9MPMBZ900L, F9ToBOMLOLGIGIO 3¢535¢3JOOL

QO3MMBISBY O dMI0YOL 930900l doge dsd30L J390 dYyma3 b STEH® Bofforgdsdwy
MBogOHMbM d56doErols (335D

c. 360500 9360930l d0ge Lodomgdols bosrolbosbo Jgltrmegdsby.

The correct answer is: ©593990L OML Y9690 POHMYd0MO T9IMOMDd39dOL,

390583OMbOWGdIW0 3e5353H9008 OEIMdSDBY S 0GOSO 936900l Joge dsd30L J393d Iyme
096993356 b5{ow 09309 MLsgOmbMm d56d0Erol (335D

190 ) 1000 3 GL BgImo gergdGHOmEsbsysMmd0L 9HN30MM3649mo dmILobIMHgdIOLSL
396530 56 Mm396M5BH0-lsMgIMbEHM 3gOHLiMbols, »bos 3Jmbogl
994 GHOMMLIRONHMYOOL 56056530gd .... (Bbero 5. 3. 2.) s06B0g gPmo:

a. V 15335¢009803530M X330
b. IV L5335000503530M X3IRB0
c. 1155335C00x03530M XyMBO
d. 111 5335¢C00803530M X AMIBO

The correct answer is: 1V 155335¢0003035300 X 29RO

191 ) 1000 3@ 9399 gegdGO™EsbssMqdol JOHmM300Mm36ws 8malsbwMmgdolsols
396530 56 Mm396M5BH0E-UsMgIMbGHM 3gOLMbswl Mbs 3Jmbgl
994 GHOMMLIBONHMYOOL 560565309d .... (Bmbeo 5. 3. 2.) s0MBog gPmo:

a. VI 153350005303530M X3IB0

b. IV 15335¢00503530M X3RO

c. 11'55335¢C008303530M X3MIBO

d. 11 b5335C0GB0IS(30M XAMBO

The correct answer is: 11l 55335000503530M X {MIBO

192 ) 1000 3@l Hgdmm 9egdGHOmEsbsysgdol 330l MBOHMLGIL Mm396MsEH0IE0 b
396530 LoMgIMbEH™M 39OLMBs0s6 ¥bs 3Jmbgl gergdBHOMMBBOHNHMYIOL 50156530 ...



(89bero 5. 3. 2.) s06Bog

96»0o:

a. VI 153350050 3530M X3 IR0
b. IV L5335¢00503530M X3RO0
c. 1155335C0x303530M XAMBO
d. 111 b5335CP0B035G30M XAIBO

The correct answer is: 1V 155335¢0003035300 X29R0

193 ) 3090 FgLsdsdoLO L3900 Jobdoegdo, 1 33-9g LBYb-Bg 500567006 S Fom

9096 359mygb9gdeo LMK 390006, dsd30L J390 Iy YbASIGG Boffoegdsdyg (dmbero 5. 3.3.)
50MB0g 9MHmo:

a.0,5d
b.10

c.0,60
d. 1,549

The correct answer is: 0,6 3

194 ) 309090 Fgbodsdolo EsLEdZ900 J5bd0wgd0, 500569006 s s dogH

39909969090 LoBsMK 39006, 1-35 33 dsd30L 393 I YbYSAGE bsfowrgdsdy (3mbero 5.
3.3.) s06Bog geoo:

a.0,5d
b.0,6 0
c.1,50
d.10

The correct answer is: 0,6 3

195 ) 30090 dgLsdsdolo ld39d0 Bs6d0gd0, 5056980 D s Fsm Jog®

2990949690900 oMK 39806, 110 33 dsd30L §393 gmg gbysdEE bofowrgdsdwy (3mbero 5.
3.3.) s0MBog gem0:



a.1d

b.0,50
c.1,50
d.0,640

The correct answeris: 10

196 ) 3090 FgbodsdoLO ILETZ900 5bdowrgdo, 1 33-d7 Lgab-bg LsdMdom s
LOE®IBL3MOE M IEYMT>MJMB5d0 IYmRo d9JoboBdgd0sH, 3300050 Bsbdsb9d0.b,

X 953056M900b, BZ30MMLOGSE0 IM{iYMmdOE™MdOEIDL s B30MHMYd0Lb. (Bbero 5. 3.3) s0MBoy
9600:

a.0,5d
b.0,60
c.10

d. 1,59

The correct answeris: 10

197 ) 8090090 dglsdsdolo sLdzq00 dsbdorgdo, 1 33-90g 99dGHOMPbsYMOTO LsdMTom
@5 LBoGBL3MOEM BYMTsMgMd5d0 gmao d9doboBIgd0sb, GH3060m58(g 356456900056,
X9W5805M9006, H30MDLES30 IMFYMDOWMdO6 s BH30MHMJO0EsH. (AMbero 5. 3.3) soMBoy
960!

a.1d

b.0,58
c.0,60
d. 1,59

The correct answeris: 139

198 ) 00 Fglodsdolo EsLdzqd0 dsbdowgdo, 1-35 33 9gdBHOMPIBbsYIMOTO LsdMTom
@5 LBoGBBLEMOEM BEYMToMgMdsd0 Igmao d9JosboBIgd0sb, GH3060msdfg 356456900056,

X 9530509006, H30MDLsES30 IM[YMBOWMdOWB s BH30MHMJO0EsH. (AMbero 5. 3.3) soMBoy
9600:

a.0,64d



b.19d
c.0,50
d.1,59

The correct answeris: 10

199 ) dommomgo Gglsdsdolo olisdzgdo dsbdowrgdo, 110 33 9ergd@MHMEIbsYsM9dT0 Lbsdmdom
@5 LoGMBLEMOEM BEYMTsMgMdd0 Igmao d9JoboBIgd0sb, BH3060msdfg 56456980056,
X95305609006, H30ODLGS30 IMFYMBOWMIOWB S BH30MHMJO0sH. (AMbero 5. 3.3) soMBoy
960!

a.0,6d
b.0,58
c.1,50
d.10

The correct answer is: 1,53

200 ) 9600300360 EIMZ5¢0gM9gd0L Y3 gdoL IJmbg M39MoE0ME 56 M39MoE0vEn-
Lo69MbEH™M 39MLMbIEL Mbs 3Jmbgl §egd@OMLBOHMLMYOOL 565653 90d......

15339C00803530M X{IRBO0.
(8mbo 5. 3.4.) 50MHB0Y

96»Oo:
a. v
b. 1l
c.
d. Vi

The correct answer is: 1l

201 ) 9c09dGHOMLOAMMHIOOL s J39U5RMMIOOL JOM30MMZMEO IMISC0gMHGIOL
»R9d0l 3Jmbg 5doboliBMmo30w-39d6036 3gOLMbowl Mmbs 3Jmbagls

9094 GHOMMLIFONHMYO0L 56M56530gd...... 1533505035300 XyRB0. (8bero 5. 3.4.) s0MHBog
9600:

a. Vv

b. IV



c. |l
d.

The correct answer is: V

202 ) 3060893 H™I90 9e9dGHOMMLIRONBMYOL X MR Mbs 3Jmbgl m3gemo@orem
36 Mm3965& 0 LoMGIMbEHM 39MLMBIEL, Lofo®dml byeddm3s69wMmdolL bgdsOmzom

994 GHOMBOYMMIILS S J39BoALYIMGdT0 9l3OLOYGOOL O™

3659w9dHOH™GHYJ60396M0 3gOHLMbsgols BogH gargd@MH™MoboysMgdols
M35 09M9d0LsL? (IMbero 5. 3.5.) s0Mbog gMmo:

a.Vv
b. IV
c. ll
d.

The correct answer is: lll

203 ) 1000 3B 85050 dsd30L 9GO MBS PIMIOOL OMZ5¢0gMJOOL MM LYIZ)00S
«. (0mb0 5. 3.7.)

50MB0g 9MHmo:
a. OMZ5¢0xMYOOL OML M50dg Ldwdoml Fglierergds
b. 990mM0d30L s 35609ML dogbood gligers

€. 99L3s 08 LEMH3LMGOLS S 35996M9dT0, BosE WIBYIABIMBFOWGdO 56 SMOL OEWMWO
390003390000 S d56MH09MHJO0M

d. 9603060360 EsM35¢0gMgd0L dJmbg 3060 I 399 JEgdBMMIBsYIMTo 0ymlb 0d
9v853990L 0568bgd0, HMGd0E 56 GALEBYIMGO0E TmE78ME GEg]BOMPIBIAML

The correct answer is: 900300360 IMZ5¢09xM900L dJmbg 3060 JmEgdwme
999 GHOHMBsAMTo 0gml 08 399953900l 1sbdbegdo, HMBgdoE 56 gaLLbMMGd0s6 ImEgdwme

9099 GBSO

204 ) 65 5153390 BsbdoEBg sbErml 56 Fg0dergds 803495bEM3Im 6-35 33 IbUYHXYE
3995b65F0owgd9w 8mfjgmdowmdsdo dofolimsb dm3wgo dgHm3z0l 50wl 4oMmEs M39EMsEH0I0
239005M3900L5 @S d5d30L §398 Imb39MOWO 5053056900l A5bmMs30Lve3EgdOL dadmbgzg3zgdols?
(89bero 5. 3.8.) s06B0Y

9600:

a. 9M5653w9d 4 4



b. 565653¢90 6 0
C. 56b53en9d 8 3
d. 5M56539d 2 3

The correct answer is: 5®565309d 4 3

205 ) 65 5159390 BsbdoBg sbErmls 56 godergds 803w9ob M3 Jofolimsb dm3wg

d90m30L 5QP0L 0 35Fb5{owgdge FmMYmdOEWMBIOLS s Bodsgem gargdEHMmassd3gd
bsBDBY 9O M3GMSGHOIX0 FOPIMMZYOOLS s 35030l J39d Imb39MOE0 5053056900l
3960530LvRW9dOL d9dmbgzg3900Ls? (3mbero 5. 3.8.) s0MBoY ghmo:

a. 5Mobs3egd 2 9
b. 565653¢090 5 9
C. 5M56539d 4 3
d. 5609653¢09d 8 3

The correct answer is: 5®5653c9d 8 3

206 ) OHmIgeo 06©03000195¢ OO (330L LGNS gd9d0 MbEs dm3z0949bmo 1000 3mem@E by
9505¢00 35030l 259000339900, bgerol 539653000 SV FMMIOWO R9F33)390GOOLS OO
50m3M39 900l Bs®035-958mMHM30L5L? (mbero 5. 3.9.) 5060y ghmo:

a. bsgoBd s 0YgdBHEM03M0 dmEHJdo
b. bogwoBs

€. 099dGHM03290 bgemomdsbgdo

The correct answer is: 099903290 bgemomdsbgdo

207 ) Hm3ge 3mfymdoermdsHgs aledzgdo 9339w gdol 933ws dsd30L5 s EZ0MM30L §393?
(89bero 5. 3.10.) s06Bog

9600:
a. 53MdoE0s 9(3399gdol T933es d5d30B5 S IGH3Z0MHM30L §399
b. 6-10 33 95030l doEM356 EGHEMBLGZMOTSEMMYOBY

c. 39Mm©5Q 5 obs3gdol Jugegddo, 539039 dsd30L BHEMBLGMMToEHMMYdoL d339wd0L
d93330LOL



The correct answer is: 3gm©5© 5 396507900l Jugergddo, sxM9gm39 dsd30L BHEMBLFMMIsEHMMGdOL
93392gd0L 8933Lolsl

208 ) HMIger dmfymdoEMmdsHgs o390 8339900l d933ws 5030l §39d, Ao o0
©5G3060m30L go6M98g? (Imbero 5. 3. 10.) s06B0g ghomo:

a. 1000 3m 3599 9gdGHOM©b50yM90d0 H7HBobol baerobgdol godmygbgdoom

b. 1000 3me0@GL Bgdmm gergd@mmEsbsys®9ddo 09w gdGM03weo boerobgdols s sd(3930
L5035¢9900L 25dmygbgdom

c. 5030 J390 GZ0MM3Z0L 35693, 536005 33391900l T3S

d. 30b5gH90%Y, OHMIgEms Bggdsdo 56 5M0L Ls3MmIMNESGOM 3535653 Jd0, HMI0ms3 Ig0dgds
dsd30L Imblbs

The correct answer is: 30bs9H»90bHg, OMIgeEms Bgdsdo 56 SMOL bo3MTMESFOM 535653900,
OMIoms3 390d¢gds dsd30l Imblibs

209 ) 439900 B33 0e0 B8 gdg00sb, dsd30L §390 dymxzo d;339wgdol Imblibs-aggbgdolisl
1000 3Gl Dgdmo gangdGO™m©sbosst9ddo, MMl 458mygbgdss s30wgdgwo? (dMbero 5. 3.
11.)

506bB0g 9MHmo:
a. 0BME0MYdME LobgumE®osbo LabGmabbolio
b. bogwoBs

¢. 350DMm 06930 JoMfMbgdo. Lobol s MZ5gdoL (3530 LBOTUYOEGDJO0. CO0JEYJEHM0IMWO
bgwmsmdsbo

The correct answer is: 350bDM 069390 JoOF1bgd0. Lobols o MZ5¢gdOL (3530 LTOEGdgdO.
0999 BH®03290 bgwmsmdsbo

210 ) 599(30@909@05 M) 565 ©S039AML Bs3gEH0 00 9e9dBHMMPIBRIMOL LyME3LMgdOL
39690900, 35996930, B5MJO0 S ©YHTYI3M939d0, LS 50 FoMTmMgdlL Lodmdomgdo? (dxmbero 5. 3.
12.) s06Bog gemo:

a. 56
b. @osb

The correct answer is: 0sb



211 ) 30L096 Mbs 065HYGOMEIL LM SZLMU FoBEYdGO0 1000 3MeEDY FoEoo dsd30l
9994 GHMM650y6M930L IMALEbMIOOLIL SYOWMIM0Z30 M3JMHGOOo 39HLMbswom? (Bmbero 5
3.13)

50MB0g 9MH»O:

a. 903003600 EOMZ5e0gMHGOOL YYRYdOL IJmbg 306090

b. m3965@0mwo 39OHLmbswwmsb

c. V 15335¢0003035300 X 29830l 500dobolMo3ow $9dbozm® 39mLmbowmsb The correct answer is:
3965@0)0 39OLMBs b

212 ) G339 390OLmboebY 2503995 Gglsdsdolio bgwdmfg®om, 9egdBHOHMmEIbsyscol
LomogLML golivwdgdo? (mbero 5 3. 13.) s0MHBoy ghmo:

a. V 15335¢00%303530M X330l 50dobolid@ogomw ¢9dbozme 39mlmbsowbg
b. 96030636990 ©sMZ35¢0gMHYOOL MREgdoL dJmbg 306MH9dbY — y39es LEmogLmL FoLOWIdJOO

The correct answer is: 9030603600 IMZ>0gMHGIOL MBgdoL IJmbg 30690Bg — 439w
LomogLMb golivowgdgdo

213 ) H™Iger 396LMbIEDBY 4503995 FgLsdsdolo bgardmg@om, gargd@mmosbsystols
L50O3LMUL goliogdgdo? (Fmbero 5 3. 13.) s0Mbog ghmo:

a. V 1533508035300 X3I530L 503060L6mEs30w 946036 39MHLmbocby

b. ©599390%9, LodTomms bgedd3s6gELs s FoMTMYdYEDBY, FgM35YMMG B _ LomO3LMgdOLY,
MmIwgddog Mbs 0399d5mb

The correct answer is: 05393909, Ls3MFomms bgerddmzs69wls s AHoMmTMYdgbY, Igm3zseyg e HY
_ Bomoglimgdols, ®mImgddos «bws 08m3smb

214 ) 25b50999930L BOYH6JBOL BHMYMOO Fglio sOBYDIMBL gergd@OHMbsYMYddo,
(299boE 9gALobMgds 399008030 M3gMoG0vEo 39MHLmbswo? (dMbero 5 3. 13.) soMHBog
9600:

a. 3oLYd9d0L IBGMBIOOL MM A5BOLEDBPZMGdS Lofo®Dml 56350 gdom

b. 89936m @Ol Lodw)dsm EEOHMOL ESFMH3MNO50Y

c. AbmErm 256(9b0ob b330l 9939y



d. 35L59d0L EsdM69ds bS FMbEIL YM39WPVOMMIE IMZIE0JOHGOOL 56 bsdmTomls
©530536M9d0L 9999

The correct answer is: 35550930b 3M*Y69ds MbEs IMbEIL YMZIP WO IMZIE0GMHGOOL 56
L53)oml EsIMS3MGOOL F90g

215 ) Lo FoMmy, 039 505 Hoboliffo®o BxdsMMZ0L 5©gds dsd30L dmblibaby,

B3390l 9e9dGHOMYboL HgdmMJdggdoLogsb AoLobmogolRwgdws©?
(89bero 5 3.14.) s06MHBog gP00:

a. OosH
b. 565

The correct answer is: 565

216 ) sOLgdwo [Haligdom 69xdSIMMNYW0S, ) 565 FBHILOm goblsbwzMEo bodwdom
500300900l O 35¢dOL FMFMEMBOL J9RsMMNMYds? (FMbero 6 3.2) soMbBog gOmo:
a. 53MdoE M0

b. 690s@IMMY0s o 39 9dmnbgg3zsdo

The correct answer is: 5360350

217 ) Lo FoMMGOL 199 565 5OBYOEo [gbgdom JegdEMMEIbsYMJdT0 bgdoldogMHo
153 ol Jgbemergds dgmsbbdgl Loddsml bgarddmgsbgwmsb 96 4sbgliols o399 30HMH,
0 0l bbgs 296(glols 3gddggdol bmbsdos? (8vxbero 6 3.3.) soMHBog g@oo:

a. 5o
b. @osb

The correct answer is: Qosb

218 ) F53MMZ30 M0 56 HMIgero 1sdMTomgdo 6 Mbs FgbOmEgl G9dbmermyowm®o Gydqdols
36 L Bomms FoBmgdol 3Omgd@ol dobzom? (IMbero 6 3.4.) s06Bog gHmo:

a. Lodwdomgdo 1000 3MEbg Fo0oo dsd30L Je9dGHMMPIBIYIMGOTO IbYSTEHG bohowgdby
35030l ImMblbgs

b. bgab_ob 353039 MH0 MHgdmbEo dsd30L LoEowols Jobgszs©

c. 1000 3@ 4399mo 9e9dGOMMGYMdoEMmdgdol 3530@0wemo H9dmbEo



d. 1000 3m¢@b B99m0 9e09dGOMBMFYMd0MdId0L 3530ES OO M9gdmbEo

The correct answer is: 1000 300U J399m0 gegdGHO®INFYMdOw™dYOOL 35300 MgdmbEo

219 ) 630500, M) 565 JEgJBHOHMEBSYIMOT0 FMbOmOo dYMIsMGMdST0 Fr9domds, vy
39856030l 300905 Fobdoo b sdEH® Bofioergdsdg olivd3z9d sbdo by sberml? (Imbero
63.7.)

50MB0g 9MH»O:
a. 50
b. @osb

The correct answer is: 56>

220 ) 9900¢0q0s, 09, 565 9e9gdEMHMEsd(3530 LFOEGdJdOL 453mMYqbgdol goMgdg dsdz0l 93930
994mz30 dmfgmdowmdgdol 0bDmEsEMM9d0L dgbgds? (dbero 6 3.9) soMHBog 9O mo:

a. 53MdoE M0
b. 8godergds

The correct answer is: 5360350

221 ) 65 356dobg sbenml 56 9odegds d03v0berm3q0 ©gbyod@6 bofowrgdls gargd@®mm©sd3og0
153995909300 (F50BMLOMYOYE0 FBobys, dsd30L 3sB396909w0) Bdsmdolsls? (3mbero 6 3.11.)
506bB0g 9MHmo:

a. 9M5653w9% 0,6 4

b. 565653e90 19

c. 300b3530 BIMNMZ00 153w95¢909d0L Bs0BME0EMGOGE0 Bofioergdol Log®mdgHg dg@ s
d. 35900 bgwol sInMmHOOm

The correct answer is: 300063580 B53MM3E0O 153951 9dgOOL Fo0BMEOMYdYE0 Boffoergdols
Log™dgbg dg¢o©

222 ) 89090905 079 565 35030l 25dMmdol 9999 9¢9dGOM@IBAML dod3s

9090mmb 459836mbowgdws©? (dMbero 6 3.14.) 5060y gOHOO:

a. 56 990dgds

b. 990degds



The correct answer is: 990d9ds

223 ) 89000905 0779 565 53560 LOEYS30580 ForbsmgdgE 5 R0gddo LsdMdomgdol (omdmgds?
(89bero 6 3.15.)

50MB0g 9OH»O:
a. o6 990dqds
b. 8godergds

The correct answer is: 56 990dgds

224 ) 39d5-Jmboerols dmobenmgdolisl 67dsMmm¥E0s, 099 565 bsddomgdol Ao3MAGEgds

153596 9e9dBHOMY9(399, LO3SdIWM, Os FTbsFowgdgE dmMfigmdowMdgddo? (dmbero 6
3.16.) s06Bog gMmo:

a. 536350
b. Bgdo@IBIMos

The correct answer is: 5360350

225 ) 3000009m LyM3LBMYd0, BMIGOTO3 ILAZ9000 BsdTsmms FoMTMgds ST(3530
BoBdsbols go6qdg (3mbero 6 3. 17.) s0MBog gBroo:

a. 005 o3565(0wgdgwo IM[YMdOEIMdS

b. bggb-900

c. 35030, LyMYEGM S om0 Absglo BoGgdo
d. 3990. 330650900 > 5OHbYdO

The correct answer is: 3oOG™30L, LyMYEGM S F>00 AbPO3LO BMYOO

226 ) MLogmmbMgdoL HMIgEro J0b0TowIMHo X930 vbs 3Jmbogl, 5O MdMHOZ30
39653000 390LMBsEOL 5OLYIMBOLSL LoFaerdml 56 bbgs MmGysbobszool dgdsygbermdols
899536, HMIgbsE 9930 JOHM300Mm36MWws 8mMoyol 5gdsMmm300 BsofgMml ds®mzol
356M90BHg o 39-90 oYgbgdo dMOEH3YIgdIOLS s BBZS LEBMTo bgwlisfgmgdol B3gbgd9gd0?
(8mbero 6 3.20.) s506Bog 9OHMO:

a. v

b. I



c.
d. Vv

The correct answer is: Il

227 ) mLogmombmgdol GemIgero dobodsro xaw30 vbs 3Jmbogl, 50y0wmd®m0g0
39653000 390LMBsEOL sHYMmzBbolsl 3dszls, HMmdgwwbsg 89mdwwos JOM30MM3bwMWws©
BoofgMHml domrm3z0l 5396909 s 23-30 Y9690 IMoEb3gEgdoLs s Bbgs LyBmado
bowbsfymgdols B39690900?

(8mbero 6 3. 20.) s0MBog

960!
a. ll
b. IV
c.V
d. i

The correct answer is: lll

228 ) 30009, 391693900, MMIgdoE 56 3569371036905 9e9dGHOMIBsYMGOOL
9963 5@SE00LL LHTMToMmgdOL MLOFOPBME TGuM¥IEgdOLIMZ0L LdFoMmM
6560B530M@ ©MbolidogdgdL (dmbero 7 3.1.) s0MHBog ghomo:

a. 593635530 5 FoFOBROHMHBOMGOIIO FE535GJOOL 250300 JdS

b. Ls3 o 50Ol FMIBHYOILS S 593905Dg BgdMIMZ0L 4539Ts

c. 3960gLob 96 gob3o6megdol go3gds

d. L53MTsmgdol MLOROMBME MDY 3s5LIboldYgdgE oMM 60365

The correct answer is: 533603500530 5 osBOHMbOEGIGE0 3¢053539d0L 35T 30GdS

229 ) 3000090 399693900, HMIwgd0o3 96 456930036905 909dBHMMOIBIYMYdOL
9963 5@SE00LSL LOFMToMmgdOL MLOBOHPBM® TGuMYIEGdOLIMZ0L LdFoMmM
6560Bs30w 0Mmbolidogdgdl (3mbero 7 3.1.) s0MHhog gM0o:

a. 3M850m00L MM dgliggbgdols s LEToml ETMSZMYOOL QOBMEOTYdS
b. Ubgs LdMTom 5P BY Pooyzobs
C. 99309090 25TMOMZGIOL Bodo®mgds

d. B953bH9039eMds LHdMToml FglerIvErgdols tmls



The correct answer is: 599300290900 253MO39d0L Bo@oMgds

230 ) 80Mm0mgm 306900, GMAWGIOE 56 50056 35Lvbolidygdgwo LsdmTomls
MBOBOHOBME 9O gdsBHY (IMbero 7 3.1.) s506Bog 9oHmo:

a. 396{glob 96 gob3o6MEgdol 2od(39d0. LEFMTom 50Ol FMTDsEYILS O ST3905DY
B9dsm30L 9983900

b. L3 ot 50Ol IMITBHYOYE0 3060. 5FTZYd0. LFMToml IFoMIMYdIEO
c. 9/3-0b 3gbgxg®0, M@. 06706960

d. 9gomz5egmEg. M0 (9360

The correct answer is: 3/3-0b 3969x 960, E). 0b7106960

231 ) G5%Bg o6 560l 35Lbolidygdgeo 4s6Hglol godigdo? (Imbero 7 3.3)

50MB0g 9MHmo:

a. obfglido domomgdwo Mbolidogdgdol LolirMols s Lo3BsMOLMdSBY

b. 3035000 899500996 Mmd0L boeolbYY s MoMmEYbMdIBY

C. 99309090 593530 LTMOgdgdOLS S 0BLEHMWTYEEJOOL SOBYDIMBLS O oMY MDD
d. 35b9bolidygdge 30605 Esb0d365%bg

The correct answer is: 52930029090 593530 LOEGOJIOLS s OBLEMWYIG6EHYIOL SOLYOMBSBS S
3905MHMMEMdSDY

232 ) 30b 593L M3agds 2ob39L 396HalO 9E9gdEOMPIBIYMGITO 459 YOIEO
1539985 gd0oL Bolio@oMgdws? (3Mbero 7 3.4) s0MHBog gOHomo:

a. 9m399M0 9e9dGHOMIBPMOL FMBLobMEY Il xR0l dJmbg M39MsdE0wmE 39MLMBsEL

b. 30693L;, LoFoMML 5EToboLEBHMSE0IE-39]60329M0 39OLMboosb s dolo LG mermwo
939005654 33900056, §enggd@GHOMMLsBOHMbMYGdOL V %5300 0¥ 580l TgLobgd s®lgd™dL Lofo®dmU
b9 ddm3zs69wob aM0wwmdomo gob3omamargds

The correct answer is: 30690U, Ls{oMBML 5ToboLGHMSEF0MW-G9dbo3MEmo 39Olmbsosb s Jolo

LEAHOMIGMIOMEO J390565YMBGTO0D, JergdEBOMMBIGOHMBMYdOL V X300 0149 5Tob dglobgd
3MLgdMmBL ool byerddm3zs6gwol oMo Mmdomo 4ob356MAMEgds



233 ) 30b 593L MBagds 2oL39L 396HILO eI MPIBIYIMGITO 3509 YIOIE0 Lodw)domgdols
Bobo@ogds? (3mbero 7 3.4)

50MB0g 9MOH»O:

a. 3m3990 9e9dGOMEIBYMOL dMBLobmEY Il xR0l IJmby Mm39Msd0we 39MLMBsEL

b. IV 9994 GHOmMLsx30mbmgdol xaw9530L ddmbg m3g6me@0wwo m3gho@omw 3gmlmbowl, v sdol
d9Lbgd sOBYOMBL LHoMAML bgerddw3569EOl FgMHOWMBOMO Fobotrymegds

The correct answer is: IV 9¢099d@GOMBsgOHmbMmgd0L xaw930L 3dmby Mm39MoG0wwo m39Modove
396LMbsenl, vy 5ol globgd sOLYIMOL LoFoMImL bgerddm3zs6gwol oMo MdomMO ob635MAMgds

234 ) LodMomms bgerddm3z969wo 3slvgbls 5390 296(glido 3000930 MLsBROMLMYdOL
4395 0mbolidogdgdol gobbm®mE0gwgdols s Fsmo 1s3doMOLMdOLIMZ0L. JoMOMYm 30093
(5Dg5 35LbolIYGdgo LFFsml bgerddegsbgwo? (dMbaro 7 3.6.) 50MB0Y gHMO:

a. 3E0Wgd90 (3530 153wY5eEgdgOOLS O VBLEMYTIBEHGIOL SMLYGIMBIBS S J5TMCIIEPMBSBY

b. LMo IFoMTIMGIEOLS S EsdTZ3900L JogM dMOYSEGIOLSMZ0L BoBM9dME0 0BLEMWJE 0L
30005650 5 bs®oLb0sbs© FglErIMeEgdsbyg, LodTsmms MLsFOMHME HoMBoMM35BY

The correct answer is: Lodw)domms AHoMIMYdIOLS s FFZ9d0L J0geM dOIOYSWYIOLHMZOL
Bo@oM9dwemo 0blE®Mm9d@og0l dmer0sbs@ s baobbosbo Tglitrvengdsby, bLodwdsmoms
MBOBOObME Fo03oMM35BY

235 ) LsdMTomb bgeddw3s69ws 060dbgds 5TobolE®E0E-39d60329M0 39MLMbowo 5656531 gd:
(89bero 7 3.7.) s06Bog

9600:

a. IV 15335000503530M X3 B0
b. VI 53350005303530M X3 B0
C. V 15335¢0003035300 X QIBOD
d. 111 b5335¢P0R03530M XAIBOD

The correct answer is: V 5335000303530 X 3IB00

236 ) dmgdgo 9lgdoo BMmombmggds v, 565 LsdMdomoms bgwddwgsbgwrol sbodzbs
L53w985mgdoLOL 9egdBHOME65YMOT0, HMIGOBYIE 5035 IMbLBOEr0s Yyzgars
©96959@ 500 b5{0gd0sb. (dMbero 7 3.8.) so6Bog ghmo:

a. 56 ImombM3z9ds



b. dmombmggds

The correct answer is: 56 dmombmggds

237 ) ©™390 39800 Bsdmmgeoo bsdwdsmgdols 3glemwargdolisl 56 dmombm3zgds
153 dommd bgerddm3zs6geol sb0d36s? (IMbero 7 3 8) soMmBog gMmo:

a. 15319 d>mgdOLOL g9 BHMMEB5YIMYOTo 1000 3 EBHL BYIMm, Je9]BHOMPIBIYIMOL
390MOM30,

b. 90094 GHOM65RMGOT0 FoMFH030 O M35¢LB0bM Lidgdoo dwdomdolsl, sgMgmagg
99dHOMAM5390Dg S F500 0gMHYd5dBY IBLIMIE 25d5bsforgdger dmfymdoErMmdsdo
9w9dsmdoLsL

c. 1539 FomgdOLSL BZ0MMedfg 6456900l S F9dsboBIGdOL godmyqbgdoom

d. B53509m bsbgdbBg s 393006YdTFNMBOL 153509 bsBYdbYg mTomdobols BEMBL3MMEHOL
06&9bLoMHo FMdMHoMmdOL 5R0Egddo

The correct answer is: 9029JGOMB5YMGO0 FoMEH030 O M35¢BBOLM 1idgd00 3w)domdolsl,

3369039 9¢9dGHOMIM5393Dg 5 o0 J0gMH 093D obMEME 4535650 gdge dmfigmdomdsdo
3domdoLsl

238 ) ©5Bg5 35L9bolidgd9eo Bsddom 500l IMIBIYDLS s 393D BydsGIZ0L
39933990 3060? (dmbero 7 3.9) s06Mbog ghmo:

a. LodFoml TgbMHYIgdOLIMZOL BOFOMmM SMEFOWGOGEO FIBMMHMZGOOLS S FMYMdOWMBYOOL
0530{930L Mbolidogdgdol Bo3doMOLMBdIBY. OLETZ9d0 dMHOYSIOOL MHMOLS s Bodw)dom
5300l 3mMMHEO0bs305D9

b. LodM s MLOTFONBME HoMoOHNZoBM30L

The correct answer is: L532)domb TguMHIEGOOLEMZOL LOFOOM HY30WGIIO FoTMOMZ9OOLS S
9fymd0md9d0l ©sd0fgdol mbolidogdgdols bo3dsMOLMdSBY. L3900 dMOYIWPIIOL OO
5 b¥FMToM 5Pl 3NMOHPObSE0SDY

239 ) 595 56 sG>0l 3svgbolidygdgero ©sddzgdo? (dmbero 7 3.10)
50MbB0g 9Mmo:

a. 2396bMOE09W OO o8MmOMNZ900Ls S JoEMGOYO MLOFOHPHMYOOL PMBOLdogdgdOL
LoLHMOHOBS @S 13FIMOLMBSDY, 520039 Fom TglsdsAOLMdSBY gobHLTo JoM0Yd 6



b. 3300090900 593530 LBTOEGdgdOLS s 0BLEMYTGBEHJIOL SOLGIMBSBS S
3905MHMMEMdSBY €. bLoddomby LMo 939059
d. 3ol dogM 0bLEBHOWEHo70L LEOWYWYMBOEISE s BoMIOLBOIBIE oESMYdSBY

The correct answer is: 59930009090 593530 LOTOEGOJIOLS s OBLEMWYTGBEHYIOL SOLYGOIMBIBS S
3905MHMMEMd5DY

240 ) MboxMmbmgdols dmIgeo x50 «96s 3Jmbogl sdd39dL 1000 3me@E b Fowowo
35030l 9e9dGHOMEBPM5dT0 FMFomdobol? (dMbero 7 3.11) s0MBog gMmo:

a. IV 15335005303530M X3IB0

b. V 5335000803530 X31I%30

c. VIb5335e0083035(30M X3RO

d. 111 b5335¢P0R035G30M XAMIBO

The correct answer is: 1V 155335¢0003035300 X 29%30

241 ) 3010000900 B53Mb5335¢0000 G5B 96 5M0L 35LvboldygdgE0 Bodrdoml dfomdmgdgwo?
(8mbero 7 3.12) soMBog

9600:

a. 193 Fomb MBOBOMBME BoEIMYTOSBY O BMOYSOL 936900l S Job JogH sGBYOEo Hgbgdols
©5635%9

b. 36035000U (93693056 0bLEHM™MJEo:70L 835830M© S LOHYYs® BoBMYdsbY

c. 000250000 9360900l 998500296 MdOL botolblis s Mom©9bmdsby

d. 00025000 §936090Pg 33030 3MBEGHMMMOL gobbm®mE0gwgdsHy

The correct answer is: 96050000 (9360900l 9995095 Mmd0L boeolbLS s MoMEYbMdsBY

242 ) 9c09dGmmsbsao6M90d0 39635009cgd00m 399d5mdoLsL bodmTomls
30om3mgdgerl 9godegds 3dmbogl gergdGHdmmbonmmbmgdol ... (3mbwro 7 3.12)
50Mb0g 9Mmo:

a. VI 15335¢008303530M X3IB0
b. V 15335000930 35(30M X 3w9R0

c. 1V 55335¢0005303530M X3 IR0



d. 111 b5335¢CP0R03530M XAIBO

The correct answer is: 11l b5335000503530M X QIR0

243 ) 9c099GHMM 650 yM50d0 256(9b00 FMFomdOLOL bodwgdoml FoMTIMYGdGEL Mbo
3Jmbgl 9e9dGH®MLsBOHPNBMYOOL ... (Abero 7 3.12) s06B0g 9Mmo:

a. V 115335¢00803530M X QIR0
b. VI 5335¢005303530M X3IRB0
c. 1V 15335¢005303530M X3IB0
d. 111 b5335CP0B035G30M X AMITBO

The correct answer is: 1V 155335¢0003035300 X 29%30

244 ) 99m3500gme9 35Uvbl 5390l IMIBYO0o LsFMTom 50Ol FgbodsdolmdsbY
396(9b80 B0PO0MYOMWMB. MDY 56 5HOL 35LbOLIYGdIO Fgm3zoecyM@g? (Imbero 7 3.13.)
50MB0g 9Mmo:

a. 360500l 9360930l 0bLEMYJEHo50L 335530Mm© s BOMESE BoEIMYOSDY

b. 3G0g5000b {j936900L MLIRONBMYOsDY JegdEGOMEIBIYMJOOL GegdGOYIEo gbom
390039910 sHB0sbgdoLYD

c. bYFMToM B9IbMEMYPOLMD 353800 MBOBOHMLMYdS DY

d. b3 docm SEYOWDBY Yg693ME0 SB0[YO9dOL FGBMPMB3gdOL, 3¢535BJOOL, MBsBOMBMIdOL
65036930Ls5 s 5396539000 B5939E0 FMHYMBOWMDYIOL sOLYGDIMBBS S IELIMdSDY

The correct answer is: 1539935 39dbMEMPOLMD ©35380MGOME MLsROMbMYdSBY

245 ) 89035 Y<)MH9© d90degds ©50603bML 3060 JegdEHBMMLIBOMNbMYOOL 5M56531gd ... (Bbero
73.13.)

50Mb0g 9Mmo:

a. 11 b5335CP0R03530M X AIBOD
b. 11 b5335CP0F03530M X AIBOD
c. IV 15335008303530M X3RO0
d. VI 15335000803530M X3 IB00

The correct answer is: 11l L5335¢005303530M X 3IBROO



246 ) 306 560 35UboLIdYGOYO BMOYSOL Y3ges §936M0L LodTomls
3995 M05bmMsb 5353806093 MBsBOHNbMYdsDY? (FMbaro 7 3.14.) 5060y ghmo:

a. sdd3z900
b. 96{gLob 2593900

c. 00050l bgeddmzsbgero
The correct answer is: 96035000l bgeddmgzsbgero

247 ) Lo MBS PIROJLOMEIL dMOYSOL bgarddn3sbgwols 43560? (Bxmbero 7 3.14.)
50MB0g 9OHMO:

a. 3obfiglbol dgmeg 3OOl dglsdg b3g@do

b. 396(gLob bLEHModmbdo ,,39w39MEo F0M0MYOIbO*

c. 396(9LobL LEB®modmbdo ,,935gdsm“

The correct answer is: 356(9glol bLB©Hodmbdo ,,35¢ 39910 JommomMYdsbo*

248 ') 30L0 3M35¢gMds F919d0s Fgom3LML 2ob{glol 45839dds 3063s? (dMbero 7 3.16)
506B0g 9MHmOo:

a. L3 Fomb bgeddm3zs69ol. EsTI3900L JurgdEMHMEIBIYIMYOT0 SYOWMDdM030 JMEM0YY
396OLMbsols 56989

b. Bsd ol AfomAMmgdol
€. V5333900l 9e9gdEGHMmMEbsYIMGOT0 5EYOWMDdM030 FMEM0yg 39OLMbswom

The correct answer is: 15329domb bgeddM3569e0L. T390 gargdEMHMEIbsYIMYdTO
5Q0WMdM030 B0y 39MLMbIOL 456939

249 ) 30L0 IM35¢9Mds F929d05 Fg0ms3LML bsddsml by ddegsbgwds? (8xbero 7 3.16.)
506B0g 90!

a. 0M0500U {9360l

b. ©5933900L 99dGHMM650YMJBTO YO MIMH0Z30 IMM0Yg 39OLMbscom

c. Loddoml AHoTMYdOL. dIZ9d0L JegdEHOMPIBIYIMGOTO 5EHOWMIOOZ0 MO
39MLMbSEOL 2569Tq



The correct answer is: Lod-)domb IHoMIMYGdOL. TIZ900L JegdEHOMPIB5YIMGOTO SO MIOHOZ0
9609 396LMbSEOL 456939

250 ) &5 d90bg935d0 0figM9ds 356Hglo Led gaBHga3wss@? (dmbero 8 3.1)
50MB0g 9OH»O:
a. Lodxdoml AGoMTMGdOl Joge 33900l FMZoegMdOL FglitrmergdoLsl

b. 396(9Lol Ggwgzmbom dos39dolols
The correct answer is: 356(9glol ¢9gugzmbom dss39d0Lsls

251 ) 306 g9bLsB3Mo3L 9O Lsddoml bgerddm3zsbgubg 2oboggdo 4obHglgdol Gogbgl? (mbero 8
3.2)

50MB0g 9MHmo:

a. 969630835600l 53560 0bsg0bgMHo
b. 9696M™ 3335600 bgerddwgsbgwo

c. 396(9gLob god3900 3060

The correct answer is: 356{qLob go939d0 3060

252 ) 65 35000055 53050050000 gobfglols 3539852 (dMbero 8 3.3)
506B0g 9MHmOo:

a. 3M85m00L Y006 5M59d93H9L 15 Lo

b. 3dsmdol sfiyg000sb 50599939l 10 oo

¢. 385000 Y900 5659d939L 20 WO

The correct answer is: 3735000 (47006 5059993 9L 15 YoM

253 ) 65 35000055 5705005(I00E0 gobfglol 360l doaMdgagds? (dmbero 8 3. 4)
506B0g 9MHmo:

a. 9M5m3939L 5 oM

b. 565739@&9L 20 Vo™

c. 5M539@9L 15 Prom



The correct answer is: 505%39@&9b 15 Vo»

254 ) 3cgdg0 §glgdol msbsbds 30U 5d3b Ma3Egds 29Mdgeml 256(gll 35s? (Bbero 8 3. 4)
506B0g 9MHmo:

a. Lodwdoml AFoMTIMGdYL

b. V 15335¢0003035300 X 329530L 8Jmbg 5c0d0bobGMo30m-39db0396 39MLMboels

c. Loddoml bgerddmgzsbgenls

d. 396%gLob gs9;399 306L

The correct answer is: 356(9glob 259399 306l

255 ) 3cmgddgo §glgdol msbsbda 30U 5gd3b Mi3egds 2oaMdgeml 2560l 35s? (Bbero 8 3. 4)
500B0g 9OMO:

a. Lodxdoml by ddmgzsbgel

b. Bod 3ol AHomMgdgenls

c. 3m39999 99dGHMME65YMT0 LFMTomgdBY F9BHILOL 3o(3935Bg MR GdSIMBOE 306U

d. V 15335¢009303530M X 3530l ddmbg 50doboli¢®sgome-@gdbozme 3gmLmbowls

The correct answer is: 3039999 994 GHOME650 YO0 LFMTomgdBY 496HgLOL 25(3995%Y
2BOsIMLo 306

256 ) dommomgor 0d 56{gligdol dbobgzol 39, MHMIwms 3obg30ms3 Lsdsmgdo
80005650 531 530M90v0s (3bero 8 3.5) s0MmBog ghmo:

a. 30 oy
b. 15 oy

c. 50 oy

The correct answer is: 30 )

257 ) 9mgdgoo fi9bgdoo dmombmggds, 049 565 bodwdsmms bgerddmzsbgarol sbodzbs od

999 GHOMOB5AM9dT0 FomdoLLl, Lo dsd35 dmblboos 439es gbsdEsm0bsfocosb
(5 L35gMH™m s L3909 M bsbgdol godmdY356900sb), Bs3gEHowos 99bmdge

999 EHOHMb5R9M9dd0 Tglolizergero s 4539905 gobfiglio yzgws dogHmgdsbg? (dxmbero 8 3
8) s0MBog ghmo:



a. Jmombmgzgds
b. 56 dmombmggds

The correct answer is: 56 dmombmggds

258 ) domomomgo d980b3z93900, HmgLsg §0bsdgdstg Habgdom bgdsstmwwos 9Hmo
39609L0b 253935 1000 3-Bg Fowe0 dsd30L GG MPIBIPYIMOL Y39ws JogMmgd9d9dbY
9M0OOMo 39dsmdolsol? (dmbaro 8 38 39) s0MmBog gMmo:

a. 960 dsd30L 9e9dGHOMIM53900L 9339053 bLbgoolibgs 3d-ol JogMmgdgdby
b. Ubgsslbgs dod30l 9egdE®™mIMe39dbg ddsmdolsls

€. 999dBHMM650YMYdbY FMTomdoLOL, HMEgLoE dsd35 Imblbowos yzgas b sdEMO
B5f0w0sb6, 3500 0L Lo3sgHm s 1530 M bsBYOOL A98MIY3569300b s Bs3gBHOWOos

d9LsL3gEgd0 IgDBMBY 99dBHO MBS0

The correct answer is: 9009JGOM65RMGOBY I FomdOLOL, HMPOYLOE d5d35 FmblBoEI0s yzgas
©096953@ 500 b5{006, B0 FMEMOL L3sgMHM O LB M bsHgdOl 25dmdYz56930sb o

Bo39GH0@os 99LsL3EgEgdo I9HMdg 9ergdEHOmEoboystdo

259 ) 3mgdg0 99000 69dIMMME0s M 565 2o039L GO0 2obFglio Lbgsslbgs
35030l 9e9JGHOMIM5390Dg 3mdsmdolsls? (Imbaro 8 3 9) s0MHbog ghmo:

a. OosH
b. 565

The correct answer is: 59

260 ) bbzoolb3s Lodwgdom 5EAOWYdBY dMINYSIIOL bEsAGOOLIL dBGOYSOL G b
50096089 §930L MRW9ds 593L 03Foml LMol AFoMmTMGdOLOYD gbEsWw 3939000
993 GHOMMLIBROMBMYOOL 5056530 gd... (Imbero 8 3 13) s0MmBog 9HmOo:

a. 5 X3MBOM
b. 4 XaMB0m
C. 3 X3VIBOM
d. 2 xamu0m

The correct answer is: 3 x)530»



261 ) 36095000 §19360190L, O®MIqdTs3 MBS 0399F5Mb Lsddsml AHomMmgderologsb
39639 393900m, 59 9935651369035 MBS ... (FMbero 8 3 13) soMBog 9PHmo:

a. Q5535 ML FgmZ5WYIMHYMdS BTNl MLOROMBM@ TGuM¥EdsBY gO-9HM dM0YsOL 930

b. 30094356ml 0bobo L¥FMTom 5O DY, BsYEHIOML 0BLEMYIE 50 Loddsmms MLOsBOHDMO
d9LEOME9dOL MOMBIBY

The correct answer is: 3004356mUb 0Lobo Lodwdom 50Dy, BsmEoMmL 0BLEHMWJE S0 LsdMTomms
MBOBOHOBME 9O gdol M5MdSBY

262 ) domomgo 99300b393900, HMEOL 56 sHOL 571dIIMMIE0s OO 2obfgliol 453905 gBHO
G030 153 Fomgdol MoMOMd0m TGl gdwsE Modm©Ybody J3gboa MOy b ghmo
939B5AMHOL M5dMY60dg dobsgHNBY. ( 3 8 314) s0M®R0Y gPO:

a. 3909 §4o6MEb 5350GOO d5d300 2odM3EOLSL

b. ®9@9MH0 53300, JE9JBOM3GHMIdEH030L Imymdowmdgdol, IbmIo bgwlsfiymgdol
d90md9gdolLols

c. BMBLGMOT>GHMOHYI0L 25360 gd0L 4563EMYdYOOL FosMMZ0LLL
d. B0 QO B0 dod30L Ls3odgErM bsBgdoL gobdEHMYdgdBY F9domdolisl

The correct answer is: Q535¢00 Q5 B5QWO sd30L 153509 bsbgdoL gobdEMgdgdbg IMTomdobols



